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M How was your presentation yesterday?
w

(a) It was better than expected.
(b) I am glad you did it well.

(c) Sorry, | forgot your presentation.
(d) You will do fine next time.
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W How did you like your vacation to the
Philippines?
M

(@) You will have the opportunity.

(b) I was dying to come back home.
(c) Didn’t you say you like it?

(d) It’s the second time to visit there.
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M What price range do you have in mind?
w

(@) I will buy at least five.

(b) How much are you willing to pay?
(c) Between $50 and $70.

(d) I'll keep that in mind.
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W Jake, why did you miss a seminar?
M

(a) It took about 3 hours.

(b) Sorry, it slipped my mind.
(c) Right. It was informative.
(d) OK. I can see you there.
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M Excuse me, where can | find the shampoo?
w

(a) You should try aisle five.

(b) Thank you for asking.

(c) Do you want a cleanser, too?
(d) Yeah. | will take a shower.
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W Hi, what can | do for you?

M I'd like to take out one coffee.

W Which kind of coffee would you like?
M

(@) With cream and sugar, please.
(b) | want a dozen donuts, please.
(c) Cappuccino without cinnamon.
(d) It tastes really good.
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M Would you mind lending me your novels?
W Not at all. You can browse them over there.
M How many books can | borrow?
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(a) You should purchase at least 20.

(b) I don’t need them any more. Take them.
(c) You can get it back to me next month.
(d) You can take as many as you need.
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W Excuse me, how can | get to IIC convention
center?

M You can take a shuttle bus.

W Thanks, where is the nearest stop?

M

(a) Right. There’s one around here.
(b) It runs every 20 minutes.

(c) You should ask a receptionist.
(d) I don’t think you can walk there.
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M Have you met the new boss?
W Yes, in the morning.

M What is he like?

w

(a) He took up his new position.

(b) I heard he likes golf and tennis.

(c) He looks nice and easygoing.

(d) You can meet him on the 2nd floor.
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W This is S&M Books.

M Do you carry Jason Hatcher’s new release?
W What'’s the title of the book?

M

(a) It’s better to buy it online.

(b) Actually, it is on the tip of my tongue.
(c) | said the author’s name is Jason Hatcher.
(d) I am not sure you have it.
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M We’d better wrap this book as a gift.
w

(a) That sounds like a good idea.
(b) I already got a birthday present.
(c) I recently haven’t read much.
(d) Is this the one you want?
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W Can you teach me how to attach a document?
M

(a) With pleasure. I'll demonstrate it to you.
(b) First you should submit a document.

(c) I don’t have time for the seminar.

(d) You need to sign each paper.
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M Could you pick up Robbie at preschool tonight?
w
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(a) Sorry, | don’t think | can make it.
(b) Enjoy your vacation in Europe.
(c) Good, I'll drive you to the school.
(d) I'll see you at home later.
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W Can | give you a lift home?
M
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(@) I usually take a bus home.
(b) How do you get home?
(c) Thanks, but no thanks.
(d) It is already 11 o’clock.
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M Would you like me to come along to the
parking lot?
w

(a) But | am not invited.

(b) Thanks. That'’s very kind of you.
(c) Sorry, | am busy now.

(d) 'l meet you in the lobby.
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W Hey, Alex. Do you have any plans this Saturday?

M Yeah. | am going to throw a party. Will you
come?

W Why not? Do you want me to bring anything?

M

(@) You should definitely come to my party.
(b) Can | bring my friend?

(c) It’s 7 o’clock this coming Saturday.

(d) Just pick up a bottle of wine.
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M Didn’t you go grab some coffee?

W | did, but | don’t have enough cash.

M Why don’t you take out some money from the
ATM?

w

(a) I misplaced my debit card.
(b) Either way is fine with me.
(c) I've been short of cash.

(d) Let’s go to the coffee shop.
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W There is a new release at the theater downtown.

M | already bought the ticket for that. I'm going
this Saturday.

W Really? Would you mind if | join you?

M

(@) I'm sorry but | am very busy now.

(b) Sure, we can go to the picnic instead.

(c) Seeing a movie is my favorite thing to do.
(d) Of course not. You can book it online.
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M Are you watching TV or not?

W Oh, | fell asleep in the middle of the movie.
M Do you mind if | turn off the TV?

w
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(a) Certainly not. Go ahead.

(b) Can you change the channel?
(c) It is the most popular show.
(d) Do you go to bed now?

M TV 7= HFol?

w

(@) 8. 2=AI&H.

(b) 22 =2 27

(c) Ol 7Fet 17| U= =200k
(d) XIZ Xt 7§?

DRX[2} ERIo| 20| 7Y SQsitt JXt= TVE 7= =lHT Gixfol|
Al sf2t2 Tt Uk olo 51242 sh= TEXe! SEel @7 e
0| =t

fell asleep &0| SCt turn off (XX} 7|7| S2) 1ct

10

W Hello, | am calling to ask about employment
openings.

M OK. What would you like to know?

W Can | apply for more than one position?

M

(a) Sorry, but it’s impossible.
(b) You should fill out the form.
(c) First come, first served.

(d) Can | have your name?
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M You took great pictures in India.
w

(@) I will buy a new camera online.

(b) Unfortunately, my camera broke down.
(c) Thank you. | majored in photography.
(d) Do you want to join the picture club?
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W Honey, you are having too much fatty food.
M

(@) What kind of food do you like?
(b) You are having fast food now.
(c) I know, but I’ll try to reduce it.
(d) You need to go on a diet.
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M | am wondering if the Jason Hahn movie is
worth seeing.
w

(a) I heard that it got great reviews.
(b) Do you like thriller movies?

(c) It is the newest release.

(d) Let’s meet at the theater.
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W | need a hand moving this chair.
M

(a) How about asking for some help?
(b) Can you give me 10 minutes?

(c) We should call a moving company.
(d) You should deal with it right away.
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M The leaves of my orchids turned brown.
w

(a) You might water them too much.
(b) I bought the orchid last month.
(c) I bought some flowers for you.

(d) My plants don’t look healthy.
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W I’'m concerned about meeting the new boss.

M You don’t need to. He will like you.

W But it’s difficult for me to get along with new
people.

M

(a) Don’t meet people you don't like.
(b) You don’t need to be there.

(c) Everything will go fine. Just relax.
(d) Let’s have some time together.
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M Do you happen to see the sewing kit?

W In the second drawer. Why do you need it?
M My coat button came off.

w

(@) But | don’t have time.
(b) Let me fix it for you.
(c) It’s your favorite coat.
(d) You'll find it for me.
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W I’'m so impressed with your piano performance.

M I'm flattered. | started to learn piano a few
years ago.

W You're very gifted.

M

15| ~5ICt sewing kit 2F2T72] come off EO{X|ct

(@) No way, | was just a little kid.

(b) Do you want to go to the concert?
(c) Thanks. | just kept practicing.

(d) Can you recognize the difference?
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M My wedding anniversary is coming soon.
W You must have a great plan, right?

M Actually, | think you can give me a gift idea.
w

(@) Don’t you think it is out of your budget?
(b) You might get her a nice necklace.

(c) Let’s have steak in the fancy restaurant.
(d) I'll go shopping at the mall next weekend.
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W I’m sorry, but could | bother you for some
change?

M | would be my pleasure. What do you need?

W Oh, | just need some change for the parking
meter.

M

(@) 'm sorry, | only have some coins.
(b) I could write you a check.

(c) All | seem to have are dollar bills.
(d) Here, will a ten-dollar bill do?
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M Did you have a chance to look over my
proposal?
w

(@) I look forward to it.

(b) Sorry, | didn’t have time.
(c) | can’t stop by now.

(d) Sure, you reviewed it.
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W Why doesn’t the cell phone turn on?
M

(a) You should change the batteries.
(b) I can turn it off now.

(c) | like the brand new one.

(d) Turn up the volume.
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M The snowstorm finally let up today.
w

(a) You’d better stay at home.
(b) It really cleared up.

(c) Nope, it is warm and sunny.
(d) How’s the weather there?
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W Hey, Darren, do you work out regularly?
M

(a) Regular exercise is good for you.
(b) I'm extremely busy right now.

(c) Sure, | go to the gym every day.
(d) Do you want to go out with me?
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M | decided to sign up for a psychology class.
w

(@) I'll let you know this afternoon.

(b) I recommend Dr. Steven’s class.

(c) Sorry, but it’s already been occupied.
(d) | registered for the conference.
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W | guess my laptop broke down.
M But you just got it fixed.

W | know, but it’s acting up again.
M

(a) You really need a brand-new one.
(b) Then let’s meet at the store.

(c) Yes, that’s a great idea.

(d) There aren’t many models to choose.
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M Did you check out the new office furniture?

W Yes, | really want to find out who picked that
out.

M What’s wrong? Don’t you care for it?

w

o
n (714 S0) D& LICt act up

(a) It doesn’t go with our place.

(b) You should be responsible for it.
(c) It was delivered in the morning.
(d) I should have canceled the order.

EE

M 22 AR 717 gole?

W U, 7t BRH=R] HY Gojoriole
M oie? 0igof ot Soie?

w

(a) 2| AlAlsk & 0f2Ix| ok,
(o) 24242 XIOF BLICH

() 2 Ozl BHEsHole.

(d) F22 FAZ0{0F Zol2,

OFX|at &Xte| 20| HEg 2= il gXt eXiolA 7t
7t OR20ll SX| YL ERLEZ 7177t AR 0i22|X| 4=Ct
1 CHEeh= (a)7t 71 RIAZCE

pick out I2Ct care for Z0l5iCt go with o1S2ICt
responsible for ~0i| Z4210| Y=

8

W Could you pick up some milk on your way

home?

M Honey, I’'m totally worn out tonight. You really
need it now?

W | used it up while making cakes for a dinner
party.

M

(@) I am not sure | really need it.

(b) I know you really like cooking.

(c) What kind of cake are you making?
(d) OK. I’ll drop by the store on the way.
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M Hello, | am George Hampton from marketing.
W Hi, I'm Izabel. I'm new here.

M Nice to meet you. Are you settling in?

w

(a) Of course, you are helping me a lot.

(b) Yeah, I’'m getting used to every new thing.
(c) I think this neighborhood is clean and quiet.
(d) I just started my job two months ago.
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W You look awful today.

M Yes, | have a headache and runny nose.
W' You might be coming down with the flu.
M

(@) You should take some rest.
(b) Yes, it is hard to recognize.

(c) Do you know a good doctor?
(d) Can you come over tonight?
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Listen to a conversation between two friends.

Jane, be careful when you drive today.

Why is that?

We’re expecting a blizzard this afternoon.

Do we know when it is supposed to hit?
Around midday and it’s not supposed to let up
until tomorrow.

W Maybe | should just call off from work today.

===

Q. What is the main topic of the conversation?
(a) Taking precautions while behind the wheel
(b) An imminent storm that’s approaching

(c) How long the storm is going to last

(d) Drastic measures that need to be taken
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Listen to a conversation between two acquaintances.

W This is some party, isn’t it?

M It sure is. You're Sally, right?

W That’s right. What’s your name?

M I’'m Peter. | work on the second floor.

W Oh yeah. That’s where I've seen you before.

M 1 just transferred to the department last month.
Q.

Which is correct according to the conversation?
) The man and woman work on the same floor.
b) The woman changed her department last
month.
(c) The man and woman have known each other
for a long time.
(d) The man and woman recognize each other
from a party.
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Listen to a conversation between two friends.

Whoa, Gina. You don’t look so good.

| feel terrible. My sister had the flu last week
and | think | caught it .

Do you have a fever?

| don’t know. Maybe | should go to the doctor.
Well, you certainly shouldn’t be at work.
You’re right. I’ll go talk to the boss about
leaving early.

==

===

Q. Which is correct about the woman according
to the conversation?

(a) She has a fever.

(b) She is currently at the doctor’s office.

(c) Her sister was recently ill.

(d) She has to be at work early.
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Listen to a conversation between a representative and a

2l go to the doctor E&of| 7iCt

customer.

W Thank you for calling O’Brien’s. How may | help
you?

M Hi, I'd like to order delivery, please.

W I’'m sorry, our delivery man is out sick. Today
we can only do take-out.

M Hmm, that’s all right. I'd like two cheese pizzas,
please.

W No problem. They should be ready in twenty
minutes for pick-up.

M Okay, thanks. I'll be right down.

Q. Which is correct according to the conversation?

(@) The woman wants to eat at the restaurant.

(b) The woman will only have her pizzas delivered
to her house.

(c) O’Brian’s delivery man lost his job.

(d) The woman suggests ordering the pizzas to
go.
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Listen to a conversation between two people.

<

Sorry, have we met before?

W You do look familiar. Do you work in the Smith
Building?

M Yes, for the law group on the third floor.

W | think I've seen you in the café. | work on the
fifth floor.

M Oh yeah! For Braun Marketing, right?

W That’s the one. My name is Laura. What’s

yours?

Q. Which is correct according to the conversation?
(@) The woman and man work together.

(b) The man recalls the woman’s employer.

(c) The woman always eats on the third floor.

(d) The man works in a different building.
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6

Listen to a conversation between two friends.

W I've had the worst headache these past few
days.

Have you been taking anything for it?

No, | try to stay away from pain killers.

That’s silly, they’d make you feel much better.

| know, but they’re also not very good for your
body.

It could just be stress. Maybe you should take
a personal day.

===

<

Q. What is the woman mainly talking about?
(a) A serious health problem

(b) A change in her health status

(c) Her dislike of taking pain medication
(d) Her aversion to taking personal days

EER

= 27| 38 SoAle

W it D27 RISE S50 Algkeln 2001,

M e igiof?

W OfL, ZISKIS =8 ot sfeim L2l

M 121 0f2 A2 3l0[0k ZISRIS 285l2 B4 BotsE 7o}
W RISt S0 oS FX| 20k

M AEA G2 & 0, OISR ARKS Ly 8t

Q. OfxP7HF2 0lop I3 YU 227

Azt 712 25|
212t Alefol st

(c) ZISHIE =8sk= Zoil chist gz
(d) 7HeI=Rl AlZtS HiLt= Zof| tht Bzt

OX[7t HEZHFE0] UCHL SIXF FAPtH 22 E&st2ta JIX|2 o

A= TSH| E5101| oSt Brde iU HEMe o2 HER (c)7t

5“3 OiXt= tHes| M2|7t OFE 0|22 (a)2] Azist 742 EX2t
= o= SUCh TRIEQ! FHl= AP} ZISHIE HLk oF HELE

0li (b)= HEo| 2 2 gich

pain killer ZISH| silly HI= 22, 012|412 status AEi  dislike

82t aversion 82, 42



1

Listen to a conversation between a doctor and a patient.

<

Good afternoon, Dr. Sheridan.

W Hello, James. Your results have just come back

from the lab.

Oh? What’s the news?

W I'm happy to report that your platelet levels
have returned to normal.

M Does this mean I’'m not anemic?

W It looks like your blood is as healthy as ever.

We'll check again in three months.

S

Q. What is the conversation mainly about?

(@) The man has not seen the doctor for three
months.

(b) The man wants to learn about a blood disorder.

(c) The doctor is sharing blood test results.

(d) The doctor is diagnosing the man’s blood
disease.
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Listen to a conversation between a representative and a
customer.

Welcome to Macaroni House.

Hello, we’d like a table for six, please.

Hm, there may be a few minutes wait while we
put the tables together.

W How long of a wait do you think?

M Probably about fifteen minutes.

W Okay, that’s not a problem. Thanks.

===

Q. Which is correct according to the conversation?
(@) The woman is dining with her family.

(b) The man got the woman a table.

(c) The man will prepare a table for the woman.
(d) The woman doesn’t want to wait.
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Listen to a conversation between a couple.

W My sister says this restaurant is great. What do
you think?

M Well, my steak is okay, but the French fries are
cold.

W Really? Do you want me to ask the waiter to
heat them up?

M No no, it’s okay. | don’t really like fried foods
anyway.

W Next time you should ask for a side salad
instead.

M Yeah. | should have thought of that when we
ordered.

Q. What is the conversation mainly about?

(@) The woman’s dislike of French fries

(b) How to politely make a complaint to a waiter

(c) Why the woman ordered a salad

(d) The man’s dissatisfaction with part of his
meal
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Listen to a conversation between a representative and a
customer.

M | see you’re admiring our new fall scents.

W Yes, I'm looking for something that’s not too
sweet.

M What about this one? It’s one of our most
popular perfumes.

W It’s nice, but it’s a bit too strong for me.

Okay, how about this one? It’s much lighter.

W That’s much closer to what I’'m looking for.
Thanks!

Q. Which is correct about the woman according
to the conversation?

(@) She wants to buy a new fall dress.

(b) She prefers a specific type of perfume.

(c) She wants a perfume that’s sweet.

(d) She dislikes the store’s new scents.
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Listen to a conversation between a representative and a
customer.

W Hello, I'd like to return this sweater.

M What’s wrong with it, ma’am?

W | washed it according to the directions and
now it’s full of holes.

M Oh dear. This is the second sweater returned
this week.

W Well, I was extremely disappointed by the poor
quality.

M I'm very sorry, madam. We’ll gladly give you a
refund.

Q. What is the woman mainly doing in the
conversation?

(a) She is learning how to do the laundry.

(b) She is buying a new sweater.

(c) She is asking for another sweater.

(d) She is returning a poorly made garment.
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Listen to a conversation between a representative and a
customer.

M Welcome to Borne Brothers. Can | help you
find something?
W I’m looking for some dress shoes for my

husband.

M Are you looking for something in black or
brown?

W Probably something in brown. Nothing too
fancy.

M These are from Italy and made of very fine
Italian leather. What do you think?

W They look great. Can he return them if they
don’t fit?

Q. Which is correct according to the conversation?

(@) The woman wants a gift for her son.

(b) The woman'’s husband prefers black shoes.

(c) The man only has ltalian shoes.

(d) The man suggests a pair of shoes from ltaly.
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Listen to a conversation between two friends.

W Wow, the new Smart Phone | 400. It’s the best
phone on the market.

M s it? Does that price tag say $600?

W Yeah, but it has more capabilities than any
other phone.

M But why not just get a computer then?

W Because it’s so small and portable. | have to
have it.

M Are you serious? It’ll be out of date in no time!

Q. What can be inferred from the conversation?

(@) The man thinks the phone is overpriced.

(b) The woman has a keen understanding of
electronics.

(c) The man believes better phones will be
released soon.

(d) The man is also going to buy a computer.
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Listen to a conversation between a brother and a sister.

What are you getting Mom for Christmas?

| have no clue. She’s impossible to shop for.
Totally, and gift cards seem so impersonal.
That’s a shame because that way she could
get something she really wanted.

Maybe we should ask her what she thinks
about it.

W Hm, maybe we should ask Dad first.

===

=<

Q. What is the conversation mainly about?
(@) The high cost of Christmas shopping
(b) The difficulty of choosing a present
(c) The advantages of buying gift cards

(d) The best places to find gifts
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MINI TEST P :
Listen to a conversation between two people.

xH
UNIT 073 ~»=HP63 W Welcome to the UK. Passport, please.
1) 2 (0 3@ 4 (d 5 (o) M Yes, here it is.
6 (@ 7 @ W | see you were in Japan. Do you have anything

to declare, Mr. Smith?
M Nope, | wish I’d had time to do some shopping,
Partlll but | was there for business.
1 W Okay, sir. The baggage claim is downstairs.

M Thanks very much.
Listen to a conversation between an immigration officer Q. What is mainly happening in the conversation?
and a traveler. (@) The man is getting into Japan.
(b) The man is showing customs extra luggage.
(c) The woman is asking for customs
declarations.

(d) The woman is entering the UK.

M Welcome to Korea. Passport and ID card,
please.

W Here you go. Is a US driver’s license okay?

M Yes, it’s fine. How long are you staying in
Korea?

W P'll be here for two months. SEI ol rHstm =0
M Okay, and what is the purpose of your visit? MRl tEE E_{ng_
W I'm visiting friends in Seoul. W =0l 241 212 HEELICL 01 20| FAL.
M 4|, of7| AELICE
Q. What can be inferred from the conversation? W Ql=0) HARS. AITE 20| YOAITIR. ADIA WP
(@) The man works for an airline. M QISLICH ATIS AIZH0| QO EQUS HilK), AIIA} 7+ 7RIS,
(b) The woman is not a US citizen. W SBISLICH & 2= 3O ofaEelLic
(c) The woman will not be alone in Seoul. M et ZEAsiLIC)

(d) The man will search the woman'’s luggage.
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Listen to a conversation between an airline representative
and a passenger.

M Hi, could you tell me what time flight 754 to
Chicago is boarding?

W It leaves at 11 o’clock, so you should get on
the plane around 10:30.

M | thought it was departing at 10:30. Why the
delay?

W Inclement weather in Denver.

M | see. And how can | get to the gate?

W You have to take the airport shuttle to terminal B.

Q. Which is correct according to the conversation?
(@) The man and woman are in Denver.

(b) The woman’s flight leaves at 11:00.

(c) The man’s flight is delayed due to air traffic.

(d) The man must go to a different terminal.
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Listen to a conversation between two friends.

Tony, you missed the turn!

Huh? Sorry, | guess | was going a little fast.

I’ll say. Now we’re really going to be late.

It's okay, | can just make a U-turn and it’ll be
fine.

You really should pay more attention to your
driving.

| know. I'll try to be more careful.

= ===

o =

. Which is correct according to the conversation?
a) The woman is driving.

b) They have already made a U-turn.

c) They are late for an engagement.

(d) The man is accepting her advice.
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Listen to a conversation between two friends.

M Sally, are you okay? You look like you’ve been
crying.

W | got a speeding ticket on I-91. | can’t believe it.

M Oh no! How fast were you going?

W | was late for work. When the cop pulled me
over, | was going 85 miles.

M That'’s fast. Isn’t that the second one you’ve
gotten this summer?

W Yeah, my dad is going to kill me. Our insurance
is already so expensive.

Q. What can be inferred about Sally from the
conversation?

(a) She will change insurance providers.

(b) She is nonchalant about getting the ticket.

(c) She is afraid her father will be mad at her.

(d) She usually drives above the speed limit.
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Listen to a conversation between an airline representative
and a passenger.

W Excuse me. Someone is sitting in my seat.

May | see your boarding pass, please?

Sure, here it is. Seat 34A.

It seems economy has been overbooked.

What? Do you mean | have to fly standby?

What if | miss my connection?

M Actually, we’d like to move you to business
class free of charge.

M
w
M
w

Q. What is mainly happening in the conversation?

(@) The woman is making a flight reservation.

(b) The woman is sitting in the man’s seat.

(c) The man is complaining about the crowded
plane.

(d) The man is resolving an overbooking
problem.
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Listen to a conversation between two acquaintances.

Sandra, is that your sedan parked outside?
Yes, it is. Why?

| think you may have left your lights on.

Not again! I'd better go check it out.

You might want to take a look at the battery,
too.

W Thanks John. I'll let you know if it needs to be
jumped.

=Ts=s=2=s£2

Q. Which is correct according to the conversation?

(a) The woman forgot to turn off her car’s
headlights.

(b) The woman jumps into her car.

(c) The man’s car needs a new battery.

(d) The woman had an accident with the man’s
car.
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Listen to a conversation between two friends.

M Julie, are you still thinking of changing schools?

W Yes, I’'m looking into programs at a few places.
Why?

M I'm just worried that you’re going to lose a lot
of the credits you already have.

W | know it will take a little longer to finish my
degree if | transfer.

M Yeah, but you’re only a semester away from
graduating.

W But | really want to study something different.

Q. What is the conversation mainly about?
(@) The man’s advice on changing location
(b) The woman’s transferring schools

(c) Applying for several schools

(d) Dissatisfaction with her previous school
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Listen to a conversation between two friends.

W How’s college going these days?

M I'm actually trying to transfer to another school
next semester.

W Really? Have you applied yet?

Yeah, | sent out applications to four schools

and now | just have to wait.

W Well, with your grades I’'m sure you’ll have no
problems getting in.

M Thanks. I'll keep you posted on where | get
accepted.

<

Q. Which is correct about the man according to
the conversation?

(a) He is applying for college for the first time.

(b) He is applying for graduate school.

(c) He sent out several transfer applications.

(d) He has a poor academic record.
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Listen to a conversation between two friends.

<

How did the GRE go yesterday?

W It was really hard, the math was okay but the

vocabulary was tough.

Yeah, those analogies killed me when | took it.

W It’s difficult because the words they use are
totally archaic.

M Well, that’s why they use them. You have to
have done a lot of reading to understand them.

W | know. | should have built up my vocabulary

more before | took it.

=

Q. What can be inferred from the conversation?

(@) The woman is taking the GRE tomorrow.

(b) The woman believes she was more
successful in math.

(c) The man has never taken the GRE.

(d) The man offers the woman tutoring for GRE
vocabulary.
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A

Listen to a conversation between a professor and a
student.

W Can | talk to you before class?

M Sure, Professor Chase. What'’s up?

W | just read your critical diary and | noticed that

you’re missing six questions.

Really? But | have all twenty on my computer.

W | don’t know, but you have to submit them by
Friday for full credit.

M No problem. | must have just forgotten to print
them out.

W You can put them in my mailbox if I’'m not in
the office.

<

Q. What can be inferred from the conversation?

(a) Professor Chase is the man’s academic
advisor.

(b) The man had asked for an extension on a
paper.

(c) The man has finished twenty questions.

(d) The man’s critical diary is not yet complete.
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Listen to a conversation between two students.

M I’'m curious as to why you don’t speak up in
class.

W Sometimes | feel intimidated by other people
debating.

M But you have great ideas, and I’m sure you
could support them in debate.

W Do you really think so?

M Definitely. | think your ideas could lead to some
very interesting discussions.

W Thanks, James. I'll see if | can be a bit more
outspoken.

Q. What can be inferred from the conversation?
(a) The woman tries to avoid arguing with others.
(b) The woman is new to the class.

(c) The woman talks a lot in class discussions.

(d) The man is the woman’s teacher.
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Listen to a conversation between two friends.

W | am so swamped. | can’t believe it’s midterms
already.

M | hear you. | have two novels to read by
Wednesday.

W That sounds impossible. How are you going to
manage?

M A few all-nighters should do the trick. | can
sleep on the weekend.

W You sure are dedicated. | would ask for an
extension.

M It’s my own fault for procrastinating this long.

Q. What are the man and woman mainly talking
about?

(@) The amount of work they have for final exams

(b) The difficulty of finishing assignments on time

(c) Methods the man uses to get through mid-
terms

(d) Problems they are having at work
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Listen to two friends discuss a novel.

<

Have you finished reading Jane Eyre yet?

W Yes. | think Charlotte Bronte’s analysis of
marriage is still relevant today.

M You didn’t find it boring? It was tough to get
through the flowery language.

W It was a tad verbose, but | especially liked her
commentary on women and madness.

M True, timid Jane next to the violent Mrs. Rochester
is pretty striking.

W | agree. Rivals are often represented as

opposites in literature.

Q. Which is correct about the novel Jane Eyre
according to the conversation?

(@) The woman said its message is outdated.

(b) The man appreciated its diction.

(c) It uses a common plot device.

(d) It is solely read by women.
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It looks like it’s going to be a wet, icy holiday
weekend. Travelers should get to where they are
going well before this evening, as heavy rains
this afternoon will turn to slush and ice tonight
when the temperature drops to a low of minus six.
We can expect very low visibility and dangerous
driving conditions until the cold front passes
tomorrow afternoon. This severe weather is sure
to worsen the already terrible traffic in the New
York area during the Thanksgiving holiday.

Q. Which is correct according to the forecast?
(@) Snow will begin this afternoon.

(b) Temperatures are likely to increase.

(c) The weather will make driving dangerous.
(d) Low visibility will last until the weekend.
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And now for the weather forecast. A low pressure
system is pushing southward this week, and the
southeast coast is likely to see cold, fog and misty
rain from Monday morning until Tuesday night.
The southern coast of New South Wales will take
most of this nasty weather. However, drier, colder
temperatures can be expected further inland.
Radar reports show the humidity lessening little
by little as we head north, and clear sunshine for
most of Queensland throughout the week.

Q. Which region will have wet weather according
to the weather report?

(@) An inland area

(b) Southern Australia

(c) Queensland

(d) Coastal New South Wales
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And now we move to our Channel 6 weather
desk. After a wet rainy weekend, Orange County
can expect a cold, cloudy few days until a low
pressure system moves in on Wednesday bringing
some serious rain. On Thursday you can expect
fog and scattered showers until Friday afternoon
when we should finally get some much needed
sunshine. Let’s hope for a clear weekend as the
temperatures should be up in the 60s on Saturday.

Q. Which is correct according to the weather
report?

(@) Next weekend will be rainy.

(b) A low pressure system will bring cold weather.

(c) Temperatures are expected to increase next
weekend.

(d) Friday will be foggy.
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And now for your weekend weather report.
Satellite photos have shown a system of high
barometric pressure blowing in from the west
coast this week. This high pressure will translate
into very hot, dry air with highs all the way up to
95 degrees. It’s looking to be fairly clear all the
way through into early next week, so for all you
gardeners out there, make sure you’ve got the
sprinklers ready!

Q. Which is correct according to the weather
forecast?

(@) It will get cooler over the next few days.

(b) The high pressure will bring rain.

(c) The weather will be dry.

(d) The dry weather is good for gardening.
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It’s looking like we’re in for a gorgeous weekend.
After a week of grey skies and drizzle, the sky
should clear overnight on Friday and stay that
way through to early next week. Saturday will
still be a little on the chilly side with temperatures
ranging from the lower 40s, but Sunday is looking
almost spring-like with highs in the upper 50s
Fahrenheit. The sunshine should stay with us until
Tuesday afternoon when it looks like we may be in
for some very nasty weather.

Q. Which is correct according to the weather
report?

(a) The weekend will be sunny.

(b) It will be overcast on Saturday.

(c) The temperatures will drop below 40 degrees
on Sunday.

(d) The nice weather will continue until Wednesday.
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We’re in for a serious cold spell this week with
predicted high temperatures starting off around
zero degrees Celsius on Monday. By Wednesday,
the temperature will drop as low as minus twelve
degrees with the wind chill. We can expect a few
flurries on Monday night and the possibility of at
least 5cm of accumulated snow on Tuesday. This
accumulation will make for great ski conditions
on Tuesday. But if you plan to hit the mountain
on Wednesday, please remember to bundle up to
avoid frostbite.

Q. Which is correct according to the weather
forecast?

(@) It will become milder later in the week.

(b) 5cm of snow will fall on Monday.

(c) Tuesday’s weather will be good for skiing.

(d) It will rain on Wednesday.
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It was another hot, muggy summer day here
in Centerport with humidity reaching above 90
percent. Spring Harbor saw the area’s hottest
temperatures today, with highs reaching almost to
100 degrees Fahrenheit. Tomorrow we’ll be seeing
a bit of cloud cover that should taper off by mid-
afternoon, but fair skies should continue until
Friday morning. For all you astronomers out there
hoping to catch a glimpse of Mars, which will be
closer to Earth on Thursday night than any other
night of the year, the clear skies should make for
some great star gazing.

Q. Which is correct according to the weather
forecast?

(a) It was previously humid in Centerport.

(b) Mars is currently invisible from Earth.

(c) Tomorrow will be cloudy all day.

(d) Spring Harbor will reach 100 degrees tomorrow.
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Attention students and faculty. The School of

Journalism and the Department of Political

Science are pleased to announce that celebrated

investigative journalist Amy Goodman will be

speaking in the Waterman Auditorium this Friday at

3 PM. The presentation is titled, “How Investigative

Journalism Shapes Policy.” This exciting lecture

will feature images from Goodman'’s recent trips to

Afghanistan and will be followed by a coffee hour

and casual discussion in the Atrium of the same

building.

Q. Which is correct about Goodman according to
the announcement?

(@) She will deliver her lecture in the Atrium.

(b) She lives in Afghanistan.

(c) She is a famous reporter.

(d) She will leave immediately after the lecture.
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May | have your attention, please? Passengers on
flight IA727 to Bangalore, please be advised that
our flight today is delayed due to bad weather
conditions and low visibility. The plane has left
Hong Kong and should be arriving in Shanghai
within the next thirty minutes. The flight will board
as soon as it lands, so please remain at the gate.
If you have a connecting flight in Bangalore,
please speak to a representative at the service
desk. We apologize for any inconvenience and
thank you for your cooperation.

Q. Which is correct according to the airport
announcement?

(@) The plane is currently in Shanghai.

(b) Boarding will be completed in thirty minutes.

(c) Flight IA727 has been canceled.

(d) The plane was delayed because of poor
weather.
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Attention passengers, the train will arrive in
Sheffield in approximately ten minutes. All
passengers must exit the train at this time. For
those passengers continuing on to another
destination, please consult the schedule on the
platform when you leave the train, or feel free to
ask train personnel for assistance. Passengers
who plan to remain in Sheffield, please have your
tickets ready for collection as you leave the train.
We wish you a pleasant stay in Sheffield.

Q. Which is correct according to the announcement?

(@) The train is about to depart from Sheffield.

(b) Train personnel will be selling tickets as you
leave the train.

(c) Passengers staying in Sheffield should consult
the schedule.

(d) No passengers are permitted to remain on
the train past Sheffield.
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The New York Postal Service is pleased to
announce its new automated shipping service.
This service is ideal for busy New Yorkers who are
unable to get to the post office during business
hours. Simply place your package on the scale
and enter its destination zip code. You can select
priority, regular, or air mail and pay by credit card
or cash. After your payment is accepted, just print
your postage, attach it to your package, and put it
in the drop box for the next pick up.

Q. Which is correct about automated shipping
according to the announcement?

(@) The service provides door to door delivery.

(b) The service only operates during business
hours.

(c) The service is available in New York.

(d) The service is free.
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Today’s episode of Home Space is all about do-
it-yourself, or DIY projects. This brown wooden
bookshelf is covered with ugly dents that expose
the tan wood underneath the dark paint. Instead
of repainting the whole thing, | can cover the
dents easily using a surprising ingredient. First,
clean any dust out of the dents in the wood with
a cloth. Second, mix ground coffee with enough
water to make a paste. Third, with a damp cloth,
work the coffee mixture into the wood and then
wipe away the excess coffee. Suddenly the nicks
are invisible and the shelf looks good as new.

Q. Which is correct according to the speaker?

(a) A coffee paste is a good material to repair
chipped paint.

(b) All dust should be vacuumed from the surface
thoroughly.

(c) Making coffee is important for DIY projects.

(d) Repainting the bookshelf would be the easiest

solution.
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Today down at the Stewart Universal University
student union, there will be a job fair for graduating
seniors. Representatives from companies such as
LoTech Industries, TG Electronics, Oriental
Empress Cruise Lines and our very own Houston
Comets will be there to conduct mini-interviews
and give out information about their companies.
The job fair starts at 10 this morning and ends
tonight at 5. So, come on down and get some
information on some great companies.

Q. What is the news report mainly about?
(@) The purpose of the businesses coming
(b) The importance of this year’s event

(c) The list of corporations attending

(d) An event for graduating students
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Good morning, Middletown Students! In
conjunction with Middletown Hospital, our school
will be hosting a blood drive next Tuesday. If
you are interested in donating, please sign up at
the athletic office before Friday. The blood drive
will take place in the gym from noon to 4PM on
Tuesday. If you're unable to donate but would like
to volunteer at the reception table, please talk
to Nurse Johnson in the health office as soon as
possible.

Q. Which is correct according to the announcement?

(a) Middletown Hospital is looking for volunteers.

(b) The drive will be conducted at the hospital.

(c) The event will be held the following Friday.

(d) Middletown School is looking for blood
donations.
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The United States Department of Agriculture,
also called the USDA, is a branch of the US
government that regulates and oversees food
production. One of the tasks of this department
is making sure that large-scale animal farming
operations adhere to standards of cleanliness,
efficiency, and production. However, with food
corporations becoming increasingly powerful,
the USDA has become more and more lenient
in these standards, sacrificing sanitation and
humane animal treatment in the process. As a
result, industrial animal farms are creating huge
problems in waste treatment, water pollution, and
even disease.

Q. What is the main topic of the lecture?

(a) Food corporations dealing with the USDA

(b) The USDA’s standards on food production

(c) Developing stricter guidelines on animal

farming
(d) Problems associated with slackening USDA
standards
H
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In order to write a successful academic paper, the
writer must think critically about the question he is
trying to answer well before setting pen to paper.
Developing a strong central statement, or thesis,
is essential to crafting a strong paper. The thesis
must make an argument that is narrow, clear and
concise and it should be apparent towards the
very beginning of the paper. The remainder of
your writing should be in support of this essential
thesis statement and should convince the reader
that your argument is correct.

Q. What is the main topic of the lecture?

(a) Various writing methods used in academic
papers

(b) Arguing against someone else’s thesis

(c) The importance of strong thesis statements

(d) The use of academic papers to correct people
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Today we will be discussing a very common gum
disease called gingivitis. Gingivitis is a periodontal
disease in which the gums react to plaque on the
teeth. The plaque irritates the gums and often
leads to swelling, red or purple gums that are
painful to the touch. Gums infected with gingivitis
often bleed easily even during gentle brushing,
and especially during flossing. If left untreated,
gingivitis can develop into a more serious disease
that could lead to tooth loss.

Q. Which is correct about gingivitis according to
the lecture?

(@) It is a disease caused by fatal viruses.

(b) It involves the interaction of plaque and the
gums.

(c) It will definitely lead to tooth loss.

(d) Infected gums will only bleed during brushing.
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Class, today we’ll be taking a look at a little state
in the northeast region of the US called Vermont. It
is the second least-populated state in the country
and also one of the smallest. Vermont shares
borders with several other states as well as the
Canadian province of Quebec. Along with Texas
and California, Vermont is one of the seventeen
US states that once existed with its own sovereign
government. It joined the United States in 1791.

Q. Which is correct about Vermont according to
the lecture?

(a) It is the smallest state in the US.

(b) It shares borders with several countries.

(c) It once existed as an independent country.

(d) It has almost no one living there.
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Today we’ll be discussing the early development
of the sewing machine. The sewing machine
was first patented in the UK in 1791 but the
machine was not built at that time. Then, in the
early nineteenth century, tailors across Europe
began to design and patent machines to sew
faster and more efficiently than traditional hand
sewing methods. In the 1830s, a French tailor put
together 80 sewing machines in a factory to make
uniforms for the French army. Unfortunately for
him, the factory was destroyed in a riot by other
tailors afraid of losing their livelihood.

Q. What is the lecture mainly about?

(a) The early history of the sewing machines

(b) The best way to manufacture military uniforms
(c) Examples of different kinds of sewing machines
(d) Advances in modern sewing machines

ER
=2 MSEC| &7| Lol ChahA olop s 25 SHELICE i
S52 179140 =0IM X3 S35 LUXIZL O Aol ®HS
0| THEUXIX] AUSLICE T2 F 19M17| =0l R TS| RHE
AMEE £02 HiLAsh= M8 YWHECH O 12T sS850 M22
7|AE DQteld E5IE E| AIRBESLICEL 1830FCHoll= o =&t
A THEAPE DA ol 2SS MEBH 7| 2l 2ol MSE
80CHE SOYELICEL S| MAS AUSTt Feifloh= CHE i
AEe 2502 1 ZE2 miu|=RAELICH
Q. Zel= 2 2of| 25t Ze17t?
(a) *HEE2| =7| HAL
(b) =S THE7| 9IS 7HE £2 i
(c) CI2 =2 =52 of
(d) S HSEC| Tl
S0l MMSEL| =7| Yol chellA OlopZ St Hesz FXil=
(a)7t Elct,
sewing machine X{EE patent ~2| (Fol) E51= St tailor

=

THEAL THTEAL  put together Z25ICH riot Z&, A5  livelihood
A

To summarize what I've been saying about public
speaking, it’s important to be clear, focused, and
convincing. Make your main argument concise, as
a vague or overly broad argument will leave more
room for audiences to form counter arguments
and disagree with you. In support of your
argument, be sure that you give plenty of logically
sound examples and not merely popular opinions
and rumors. Be confident in your speaking and
know your argument back to front so that you're
prepared to answer any questions that might
arise.

Q. What is the speaker’s main point about public
speaking?

(@) Answering all questions properly is critical to
public speaking.

(b) The main argument requires rational points to
support it.

(c) It is important to make sure audiences are
having fun.

(d) Use of popular opinion generally wins over
skeptical listeners.
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As the president of the American Caregiver’s
Association, | would like to speak today about
a common disease that is particularly difficult
for nurses and family members. Alzheimer’s
disease, also known as senile dementia, generally
affects people above 65 years of age and leads
to memory loss, loss of body function, mood
swings, and aggression. There is no known cure
for Alzheimer’s, though some doctors say that
avoiding stress and keeping the brain active are
simple methods of prevention. Let’s take a look
at some ways we can prevent or at least manage
this debilitating disease.

Q. What can be inferred from the lecture?

(a) Stress can result in Alzheimer’s disease.
(b) Doctors have some cures for Alzheimer’s.
(c) Alzheimer’s is a rare and confusing disease.
(d) It is easy to prevent Alzheimer’s.
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It's that time of year again! With gas heating costs
at an all time high, isn’t it time you thought about
alternative ways to warm up this winter? The
Super Hot Space Heater is the most practical,
cost-effective way to keep you cozy when it’s cold
outside. Instead of gas or electric heat, this totally
portable space heater operates on a rechargeable
ion battery. Perfect for the office, the patio, doing
work in the garage, or just to slash your heating
bills at home. Don’t freeze this winter, get Super
Hot Space Heater!

Q. Which is a claim made about the Super Hot
Space Heater in the advertisement?

(@) It cannot be moved once installed somewhere.

(b) It operates on electricity.

(c) It can be used in many locations.

(d) It is more expensive than other heating
methods.
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News from Rocket Clean! Our brand new Rocket
Clean for Colors has all the stain-removing power
of the original Rocket Clean, but keeps bright and
dark clothing looking vivid and new. Compared
with our competitors, Rocket Clean for Colors
keeps clothes looking fresher, cleaner and less
faded wash after wash. From red wine to grass
stains, Rocket Clean for Colors keeps stains out
and color in.

Q. Which is correct about Rocket Clean for Colors
according to the advertisement?

(a) It is intended for use on surfaces.

(b) It decreases the vividness of some colors.

(c) It is less effective than the original Rocket

Clean.
(d) It can be used to treat different kinds of

stains.
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The Helios notebook computer was recently
lauded as “Best Laptop of the Year” by Technical
Consumer magazine for the third year in a row.
Our new product, which comes with a superior
processing power, sleek design, and user-friendly
operating system is more affordable than ever.
For a limited time only, you can own this powerful
machine with 0% financing and no money down.
Choose from the Original laptop, the Mini-Note,
or the lightning fast Helios Pro. Go to your local
Helios Store for details.

Q. What is the main purpose of the advertisement?

(a) To direct buyers to a new computer store

(b) To advertise a newly released portable music
player

(c) To promote a special offer on a laptop

(d) To inform people about Technical Consumer
magazine
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DADD, or Dads Against Drunk Driving, will be
awarding grants of up to $10,000 to selected
grassroots organizations that are working hard
in the fight against drunk driving. The grants
will be awarded based on the broadness of the
groups’ campaigns, their potential for growth, and
educational outreach efforts. DADD will also work
in partnership with recipient groups by providing
training, networking events, and fundraising help.
Call us at 687-9823 for more information.

Q. Which is correct about DADD according to the
advertisement?

(@) They work in partnership with drunk drivers.

(b) They offer fundraising assistance to selected
organizations.

(c) They are looking to reward groups campaigning
abroad.

(d) They award educational grants to students.
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Tired of unsightly dark under-eye circles? Then
try this amazing new moisturizer from La Peau
Cosmetics. This rich facial cream is specially
formulated with salmon extract to minimize dark
circles and under-eye puffiness. We’re confident that
your skin will look smooth and healthy. Also, we’re
offering a 10 day money back guarantee. If you
aren’t completely satisfied with the balanced,
supple, and fresh look of your skin after ten days,
just send it back with your receipt and we’ll give
you a full refund.

Q. What is the advertisement mainly about?

(a) The effectiveness of La Peau’s new cream

(b) How salmon extract reacts with your skin

(c) The facial creams used by rich people

(d) How smooth and healthy skin can get
damaged
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The Department of Continuing Education is happy
to announce a series of workshops for business
people titled “Protecting your Investments.” This
exciting four-part seminar will cover a range of
topics all the way from real estate investing to
reading the warning signs in current events. Don’t
miss this chance to improve your finance skills,
impress your boss, and make your investments
grow.

Q. What is the advertisement mainly about?

(@) Investing in real estate

(b) Improving investment knowledge and skills
(c) Managing education investments and loans
(d) Becoming wealthy through investing
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Paradise Island Tours is Key West’s number one
private boat tour. Come aboard and let us guide
you through the crystal blue waters to hidden
white sand beaches, coral reef explorations, and
many other exciting tropical adventures. Our
professional onboard videographer also makes a
personalized DVD video of your island expedition
so you can take your experience with you when
you leave the Keys. Get away from the tourists
and book your own Paradise Island tour today!

Q. What is the advertisement mainly about?

(a) A travel package to Key West.

(b) A tour company that operates a cruise ship.

(c) A boat tour that gives clients a personalized
souvenir.

(d) A professional videographer for hire in Key
West.
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Good morning, everyone. Today, we’ll be sharing
some informative tips on the best ways to apply
sunscreen. Most people are aware of needing
to apply sunscreen while they’re lying out on the
beach. However, dermatologists encourage people
to use sunscreen any time they stay outdoors for
more than 20 minutes, even in winter. Why? By
putting on sunscreen correctly, you’ll not only help
keep your skin healthy, but it will also have an anti-
aging effect. Another point to consider is the SPF
number, which refers to how effectively it blocks
UVB rays and it reflects the amount of time it takes
to sunburn wearing the sunscreen. Of course, it
can be tricky to figure out how effective sunscreen
is because the level of protection doesn’t increase
proportionally with SPF values. Specifically, SPF
60 is not twice as good as SPF 30. Also, SPF
15 prevents about 94% from UVB rays, SPF 30
blocks about 97%, and SPF 45 blocks about 98%.
Now let’s take a look at a few exemplary cases.

Q1. What is the main purpose of the talk?

(@) To argue against the existing opinions about
sunscreen

(b) To introduce a newly developed sunscreen to
consumers

(c) To explain the terms relevant to sunscreen

(d) To encourage people to apply sunscreen
more effectively.

Q2. What is correct according to the talk?

(a) Most people commonly consider using
sunscreen only for lying on the beach in the
hot sun.

(b) It is much better not to wear sunblock in
wintertime.

(c) Sunscreen can’t be used to maintain healthy
skin.

(d) SPF 60 is exactly double SPF 30.
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Let’s talk about tornadoes and how scientists
measure their strength. Tornadoes come in many
shapes and sizes, and cause damage to property
and infrastructure facilities in some areas of the
world. Moreover, tornadoes can cause loss of life.
Especially, over 100 deaths and 2,000 injuries are
associated with tornadoes in the United States
each year. Accordingly, tornadoes are a social
issue in the country. Various studies are still being
done to prevent damage from tornadoes and
develop a technology and to predict different
types of tornadoes. The Enhanced Fujita Scale
used by analysts classifies tornado strength from
weakest (an EFO tornado) to strongest (an EF5
tornado). It is based on the damage a tornado
inflicts on vegetation and man-made structures.
Other factors determining the grade of a tornado
are eyewitness reports, ground-swirl patterns and
an aerial view of the damaged area. More recently,
Doppler radar allows analysts to more accurately
gauge the strength of a tornado than any other
measurements.

Q8. How many people are injured by tornadoes in
America every year?

(a) 100

(b) 200

(c) 1000

(d) 2000

Q4. What can be inferred from the lecture?

(a) There are several ways to measure tornadoes.

(b) The fatal human damage inflicted by tornadoes
has never been reported.

(c) Tornadoes have never been a social issue in
America.

(d) Doppler radar is the only way to measure the
strength of tornadoes.

ER)
EU|o|=2t ofEH| BfeiXtE0| EUl0|=2 H=E EFSH=X| 00|
it SAICE EHo|== B2 eliet 3712 21, M| L2 X|Hol| A
=0t 7 [HREAES0] TEiE YRIUC Act Edol== Q1
SHE ZHAZ|7|= BfLict. £3|, Ol=0ilAM= 10080| = ARt
2000 0|2 B4XIS0| ofit EU|0|=2 2H20] QUSLICE 20
2t EHIOIEi 3 Lizte] MR 2AILC EHol=2 215t mfsh
WSk Cefet Fefo| EHI0|=E oSSt | #lhA
Cret "'—TUP OZ15| 2shix|m ASLICE 2A7ES0l ofet JHF=X|
EIAAH Y2 EH0|= =S 718 25t BFO EH|0|=2E] 71 Zst
EF5 EU0|=7IK|2 2REUCEL X2 EU0|=7t =20t 2I51E
=201 7I5t= LehE ECHZ ELch EHlo|=2] S8 ZFsl= CE
QAS2 AR B0, go| miEn} TshX|He| S50l 2 ZEY
Lot zlZol= =221 2ol 2A471S0| tE SYERISED B
diol=o| =5 O Fefoh 582 = U=S ELCh

2gip 7|8

F

Q3. 0[201M T EL0|=2 SAS oS AfS o Eol7f?
(@) 100

(b) 200

(c) 1000

(d) 2000

oi Oj=ollM EHlo|=2t 24510 100F0| HE AZXIH 2000
Ole| RAXIS0| Aot Fleoz 2 (d)o|ch

Q4. Bo|=2RH FE22 = Q= W2 FAWN?

(a) EHlOI=E EH5k= Z 7K| &igo] ick.

(b) EUj0|=0f 2l QIximlst= 2 & o] gick.

(c) EUlo|== DI=0llM AtSE 217+ E o] gict.

(d) =22 2fo|cl= EUI0|=E S8 +~ = Rt Yolct

X2 FHRON ==0t 08 20| mls Fe=of w2t EH|0|=2]
M7 I1E Hot= 7H2 SXEL A, =52 2l0|HE 0|88t i S
LIS Elfjo|= =7 HiHo| A7 HElﬂ ooz FeH2 (a)OIEf.
informative R2/3t sunscreen XI2IMXICK measure ZEsiCtH
strength Z= property 7iZ infrastructure facility 7|2t 7

X A be associated with ~2t 220| £t the Enhanced
Fujita Scale 7ii2t EXIEt AAHY  classify 255t vegetation
Z= manmade structure QISTEE  eyewitness S, SZK}
aerial &37(0f 2|5t Doppler radar =221 2|0|c| accurate ™6t
measurement &% inflict 7f5iCH

UNIT10 41



( ACTUAL TesT (1 ?

Part | = B P g4

1) 2 (o) 3 (0 4 (b) 5 (@)
6 (© 7 © 8 (a 9@ 10

Part Il

11(d) 12@ 13@ 14 (d 15 (@)
16(d) 17 d 18 19(© 20 (9
Part Il

21(c) 22 23@ 240 25(
26(a) 27 @ 28(d 29 30 (@)
Part IV

31(d) 32 33 34@d 35
36()

PartV

37() 38 39 40 @

Part|

1

W That cheese has a foul smell.
M

(@) I also love the smell of cheese.
(b) A foul cheese has no scent.

(c) The recipe needs to be modified.
(d) I bet it has a savory flavor.
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M Don’t forget about the company meeting later.
w

(a) It won’t be so boring.

(b) ’'m so sorry that | missed it.

(c) Thank you for reminding me.

(d) Yes, the company meeting needs you.
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M The CEO is really breathing down my neck.
w

(@) Tell him to step away from you.

(b) I hate it when the CEO breathes.

(c) He just wants you to meet the deadline.
(d) You’re not qualified to do the work.
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W There won’t be enough time to finish the project.
M

(@) Then we can complete it on time.

(b) We can ask the teacher for an extension.
(c) You don’t need the time now.

(d) I'm following the instructions to the letter.

oy

W RIS B 4 QU= ARZI0| SE5HK| 42 7{ok

M

(a) B AlRH SHHA B 4 001,

(b) =il 7 342 efaieh letm 238 4 ol
(€) L XIZ AlZIO| R glo,

(d) LK= Xizkg Exisl azm 01

IHIE 2+G5H7 [0l AlZHo] £Esith= oXIe] Zofl AdEoA 7Bt

SIS 235 4+ UCKs (b)7H HEs Solct

project Ztx| extension % instruction XIA|
to the letter Xt 02

9

M | have set my eyes on getting that car.
w

(a) I hope you saved enough money.
(b) You probably will get a flat tire.

(c) You are in the same boat.

(d) I set eyes on them last year.
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M When will your mother arrive in London?
w

(@) The plane will be delayed for two hours.
(b) Go down one floor to claim your baggage.
(c) She will land in about thirty minutes.

(d) Your mother arrived yesterday morning.
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M I'm so exhausted | could collapse right here.
w

(a) Maybe you should rest less.

(b) Those pants are too small for you.

(c) We should be home in roughly ten minutes.
(d) You look refreshed from the meal.
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W My daughter was tickled pink with her
acceptance letter to college.
M

(@) You must have been overjoyed with the
news.

(b) She’s probably a very ticklish person.

(c) | can see that made you very indifferent.

(d) College was a special time for me.
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M How crowded was the subway this afternoon?
w

(a) We were standing shoulder to shoulder.
(b) I muddled through the station.

(c) There’s no traffic today.

(d) I forgot to charge my subway card.
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M What was affected by the thunderstorm?
w

(@) We have to watch for lightning.

(b) A cool front came from the west.

(c) A lot of rain hit parts of downtown.

(d) The whole power system shut down.
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M s that a brand new computer?

W Yeah, | bought it with my credit card.
M Was it necessary to use plastic?

w

(a) The price tag was out of my price range.
(b) I had to since it was brand new.

(c) Charging it won’t be necessary.

(d) I didn’t have any cash on hand.
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M Where is this bus heading?

W It’s bound for High Street.

M s that located near the department store?
w

(a) It’s the opposite the way I’'m going.
(b) I don’t want to change my route.

(c) That direction is jammed with cars.
(d) You can transfer at this stop here.
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W The effects of global warming have affected
the entire world.

M If we don’t do something to help, our children’s
children could be affected.

W | wonder what can be done to prevent any
further damage.

M

(a) We could reduce the amount of emission
gases we produce.

(b) There is nothing life-threatening to worry about.

(c) People can increase the usage of natural
resources.

(d) The ecosystem should take care of itself.
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M Hi, how may | help you today?

W Yes, I’'m looking for a direct flight to Chicago.

M | have a business and economy class seat
open.

w

(@) I don’t mind whichever city | connect at.
(b) After arriving I'll choose one.

(c) You should get in line to get a seat.

(d) Any vacancies will be fine with me.
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M I'm torn between eating pizza or a hamburger
tonight.

W You need to learn some self-control.

M What? What are you talking about?
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(a) Eating those will give you heartburn.

(b) You shouldn’t tear into a pizza or hamburger.
(c) We could just stay in tonight instead.

(d) I don’t want to give you a false sense of hope.
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W The President addressed the allegations today.

M There’s no way he’ll get out of this one.

W Unless he’s able to suppress the information
somehow.

M

(@) Maybe he’ll escape from what people are saying.
(b) This all seems like an intervention to me.

(c) He’s just trying to allay our concerns.

(d) I wonder if he has the authority to do that.
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W You look horrible this morning.

M | was burning the midnight oil last night.

W Don’t stress out. You’re the most brilliant student
in class.

M

(a) Cheating on tests is a wrong thing to do.

(b) I don’t have time for extracurricular activities.

(c) The lecture yesterday was really confusing.

(d) Thanks, but | really want a good midterm
score.
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M That institute is supposed to be the best.

W It's because the instructors are highly educated.
M Do you know anything else about them?

w

(a) The faculty’s intellect is up to par with other
places.

(b) I was at their main facility this past weekend.

(c) Their students end up going to prestigious
schools.

(d) The incompetence of the staff is a strong point.
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W John, could you chip in a couple of bucks for

the party?

M Well, seeing as that | wasn’t invited, | don’t

think | should have to.
W We offered, but you never responded.
M

(@) Sympathy won’t help you now.
(b) This is regarding something else.
(c) I don’t recollect you offering.

(d) It’s typical that | don’t get invited.
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W | am so worried about starting university in the

fall.

M There’s nothing to be worried about. You'll do

fine.
W Well, what if | flunk out?
M

(@) I am very worried you’ll flunk out.
(b) You'll probably just have to pay a fine.
(c) Then you'll have to get a job.

(d) University classes have already started this fall.
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Listen to a conversation between a couple.

=2=s2

way.

<

This freeway has a lot of heavy traffic today.
Well, we can blame the rock concert for that.
Then let’s take the shortcut at the next exit.
Too many people get speeding tickets that

| hope you have better suggestions then. I'm

out of ideas.
W There must be some way out of this.

Q. What is the man mainly doing in the conversation?
(a) Driving into an impassable route

(b) Jumping the gun on the problem

(c) Trying to give an alternate solution

(d) Being a backseat driver
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Listen to a conversation between two colleagues.

M Jackson found a glitch in the security system.

W [s the problem something mechanical?

M No, it has something to do with the program.

W | think they’ll have to do a firmware update.

M OK. I'll make sure it’ll be taken care of then.

W Be sure you do. We need this up and running
today.

Q. What is mainly being discussed?
(a) Jackson being unable to do anything
(b) The security people not being cared for

M Welcome to Alaska Airlines. How can | help
you?

W Yes, I've come across some difficulties while
checking in my bags.

M What are the problems that | can help you
with?

W Well, | was told | couldn’t take my pills | use for
jet lag.

M Let me make a call to my superiors and I'll try
to fix this problem for you.

W Thank you very much for all your help.

Q. What is the main topic of the conversation?
(a) What problem the woman has at the airport
(b) Problems the man was having with his superiors

(c) A malfunction with a protection program (c) How the man alleviated the jet-lag situation

(d) Problems with the motorized security system (d) The woman wanting to buy some medicine
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Listen to a conversation between two friends.

W In hindsight, | should have joined the sociology
class.

M You can still enroll for the class.

W Really? What do | have to do?

M Just have a faculty member sign the permission
slip.

W All right. I'll try to get approval today.

M Have it filled out by 4 PM or they won't let you in.

Q. Which is correct about the woman according
to the conversation?

(@) The woman flunked sociology class.

(b) Approval wasn’t given to her.

(c) She wants to register for a class.

(d) The school made her part of the staff.
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Listen to a conversation between two friends.

M They have to evacuate the school today.
W Did something happen?

M Yeah, there was a fire at the school.

W Oh my god. | hope they have insurance.
M I'm sure that the school is covered.

W If not, the kids will have to go elsewhere.

Q. Which is correct according to the conversation?
(a) A disaster was averted.

(b) A school was filled.

(c) Something awful occurred.

(d) Excessive coverage ensued.
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Listen to a conversation between two colleagues.

W We must meet the needs of our customers.

M That’s too daunting of a task to complete.

W If we don’t, they’ll go to our rival instead.

M Then what do you suggest we do?

W Everyone just has to be more customer-friendly.
M Pl work on creating a workshop for that.

Q

. Which is correct about the woman according
to the conversation?
(a) She doesn’t want to lose consumers.
(b) The woman is giving all her effort now.
(c) Customer satisfaction is not important to her.
(d) Merging with the competition is a goal of hers.
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Listen to a conversation between two students.

M Let’s take some precautions before the
experiment starts.

OK. I'll sterilize the equipment then.

I’ll dilute all the solutions.

Do you think all of this is really necessary?

Of course. If we don’t, our experiment could fail.
We won'’t fail. We just have to be more diligent.

S22 ==2¢s

Q. Which is correct according to the conversation?

(a) Care for setting up of the experiment was
needed.

(b) The solutions to the problem were in error.

(c) The woman finds all the precautions necessary.

(d) The man thinks the equipment is clean already.
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Listen to a conversation between two friends.

W That was bad news with the stock market today.

M | know. | was barely able to get all my money
out in time.

W Unfortunately for me, | wasn’t so lucky with that.

M Don’t worry. The market will bounce back and
you’ll recoup your losses.

W | hope so. | can’t afford to lose my house.

Just remember what they say — buy low and

sell high.

<

Q. What is correct about the man according to the
conversation?

a) The man was a pretty lucky guy.

b) The market had some stock he wanted.

c) Because of the situation, he lost the house.

d) He was able to secure his funds.

e

EE]

5 2| thstE S2AI2.

W T2 @5 AL A ¢t -i—: 2410|104,

M Z247| ot ZHIS| Mo =S Ch 4= QAL

W SUABAIE a2 °o| Z=X| 23101,

M 2 ot AlEo] 32 71 &4 TeE HLL
W 3o Z20t TS es = 8lol.

M AIZS0| Sh= &S 7|6l & o AbM B o Th= 72t
Q. '-*KHHI ot LIBOR 822 A=2?

(@)@ 2 Ao ACE.

(o) = —.'Al"*Oil 7t gt FA0| 25 URACE

(c) O &2t =0l E’él% S4RACE,

(d) XFAQ| XEF2 I 4= UAUCE



R FAAEO| EX| UCH= KIXI| Lol HXk= 7I7IAZ Kl
=S Ol 23ioo2 XF8 X2 4 UAUCH= (d)7H HEolch
stock market FA! AIE in time If 250{ bounce back 3=
SiCt recoup (&4 S2) ZIAICH loss 24! afford ~5tH OF ZCt
secure 25| Sict fund X2

29

Listen to a conversation about a criminal.

| heard the police apprehended the thief.
That’s a relief. He evaded them for a long time.
Do you think he had an accomplice to help him?
It would have been too difficult to do it on his
own.

Let’s just hope the facts will come out.

Our police department can deal with intricate
cases.
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Q. What can be inferred from the conversation?

(a) Law enforcement officials are still looking.

(b) The police had an easy time catching the thief.

(c) The thief most likely had a collaborator.

(d) Everyone knows the whole story already.
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Listen to a conversation about an advertising campaign.

M So far, our advertising campaign has gotten
poor reviews.

W Well, what do you think we should do?

M | recommend that we send out questionnaires.

W Then we can get feedback and make the
necessary changes.

M Exactly. | think this feedback can help our
campaign be more profitable.

W I’'m getting a good feeling about this whole
idea.

Q. What can be inferred from the conversation?

(a) Both of them are hopeful about this new
tactic.

(b) Promoting is a difficult business to succeed in.

(c) No further changes in the future are expected.

(d) The comments they will receive won’t help.
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This is a notice to all tenants of Victorian Village
Apartments informing that construction on the
new parking lot will begin this coming Monday
morning. The construction will last for the next
month so alternate parking arrangements have
been arranged for the residents here. Two blocks
east of the main building, the empty field used for
gatherings will be temporarily used. We apologize
for this hassle, but this is the only space available.

Q. What is the speaker mainly talking about?

(@) New use for a field used for gatherings

(b) A building that is being reconstructed

(c) The fee for new parking arrangements

(d) Alternative parking necessitated by
construction
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A white dwarf is a star composed of mostly
electron-degenerate matter. It is one of the
densest objects in the universe. As a comparison,
if you take a 1 inch cube of matter from a white
dwarf and drop it on the ground, it will fall through
the Earth! The inside of a white dwarf is made of
very hot fused carbon. If you know anything about
chemistry, you would know that fused carbon is
what a diamond is. So, in essence, white dwarfs
are very, very large diamonds!

Q. What is this lecture mainly about?

(@) The dropping of a dense object on Earth

(b) A gemstone that is most similar to a white
dwarf

(c) The characteristics of a white dwarf star

(d) How dense a white dwarf star really is
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Did you know that one of our most popular drinks,
coffee, was discovered by accident? The myth
goes that an Ethiopian goat herder named Kaldi
around the 9th century noticed that when his
goats ate some red berries from a particular bush,
they started to get energized. Excited, Kaldi took
these berries to the monastery but the holy man
did not want them and threw them into the fire. An
enchanting smell erupted and they gathered the
roasted beans, ground them up, put them in water
and created the first cup of coffee.

Q. Which is correct according to the talk?

(@) A holy man cultivated the berries which created
coffee.

(b) In the early 900’s, a goat herder gathered some
unusual berries.

(c) A sordid smell billowed when the beans were
roasted.

(d) The goats became wound up after eating a
certain berry.
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Have you heard of the game called, “Chess on
Ice?” Yes, that’s right. It’s a sport called Curling. A
popular sport in Europe and Canada, the objective
is to slide stones across a sheet of ice towards
a target. There is a strong association between
curling and Scotland. Many people believe this
sport was created in Scotland in the 16th century.
Also, there is evidence that it did exist there at the
time because of two paintings depicting curling by
Pieter Bruegel the Elder dated to February 1541. It
has become popular enough that it is also a Winter
Olympic sport.
Q. Which is correct about Curling according to the
talk?
(a) Chess pieces played on ice is popular in Europe.
(b) Curling was first officiated in the 1600s in
Canada.
(c) It became an Olympic sport in the 15th century.
(d) The origins of curling are tied to old Scotland.
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Pale Male is a male red-tail hawk who has made
its home in New York City since the early 1990s.
When Pale Male arrived in Central Park, he tried
to make a nest in many trees but was driven off
by crows. So in an interesting twist to this tale,
he made some nests on buildings rather than the
traditional tree branches. The bird is also famous
for starting a family dynasty of urban-dwelling
hawks. He is known to have fathered at least 26
chicks, with many of those chicks having offspring
of their own.

Q. What is correct about Pale Male according to
the talk?

(a) This bird first attempted to nest in buildings.

(b) He has sired a large number of offspring.

(c) Crows tried to help Pale Male live in the trees.

(d) His descendents live in the country.
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Today in local news, residents in the Lewiston area
are planning to protest the city council’s decision
to tear down Garfield Park in order to build a new
shopping mall. Locals say the park is a gathering
place for families to meet, relax and spend quality
time together. The city council cites a need to add
businesses in order to add more jobs, visitors and
population to the community. The protest set for
this weekend is potentially going to attract more
than 5,000 supporters.

Q. What can be inferred from the news report?

(a) Not many people come to Lewiston to live.

(b) Families can gather at another place in town.

(c) More jobs for the town will only make people
leave.

(d) The rally may only have a small turnout.
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Thank you for your continued support of Carmen’s
Cafeteria. Carmen’s offers solutions for calorie-
controlled diet needs, which are three choices of
different main course meals, including a vegetarian
option. We have continually made efforts to
maintain existing the cafeteria’s services and
renovated some spaces necessary for employees.
To provide better service, we have decided to
change the interior at the beverage stations
with punch, pop, coffee and other favorites. The
stations will be designed to help employees and
guests get the most out of odd or narrow spaces,
like the space between the salad bar and the wall.
Working closely with an interior design team, we
will try to reduce your inconvenience.

Q87. What is correct according to the talk?

(a) Carmen’s Cafeteria serves vegetarian menus
for diet food.

(b) Carmen’s Cafeteria has never been remodeled
since it started operation.

(c) All spaces of the cafeteria are supposed to be
changed.

(d) The multiple beverage stations are used for
chefs.

Q838. What can be inferred about Carmen’s
Cafeteria?

(a) The employees have been forced to have a
healthy diet.

(b) It will be opening right after interior renovations
are completed.

(c) It would be willing to spend money to provide
better customer service.

(d) The whole space size is narrower than that of
other restaurants.
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39~40

Today, we’ll talk about antidepressants and their
effects. Antidepressants are commonly prescribed
as the standard treatment of major depressive
disorders such as anxiety disorder, eating disorder
and sleep disorder. But they don’t work in all
cases. A recent study showed that antidepressant
medication for children and adolescents can
do more harm than good. Of course, certain
antidepressant medications have been shown to
be beneficial to those under 19. Unfortunately,
most types of antidepressants are not safe for
children and adolescents to take, and in serious
cases they can cause suicidal tendencies. In
addition, those who take antidepressants tend
to have an aggressive attitude to others like their
families and peers at school. Instead of taking
those kinds of antidepressants, patients should be
encouraged to communicate and work with their
doctors to wean themselves off the medication by
gradually and safely decreasing the dosage when
needed.

Q39. What is mainly being said about antidepressants?

(@) They are typically used for patients who have
depressive illnesses.

(b) Their side effects are extremely serious to
every depressive patient.
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(c) They should be only used for specific groups
of patients.

(d) They have remained popular despite their side
effects.

Q40. Which is correct according to the lecture?

(a) Antidepressants are fairly infrequently used
today.

(b) Antidepressants have limited or no efficacy for
children.

(c) Adolescents with depressive disorders can be
aggressive to others except their families.

(d) Some patients are advised to avoid taking
antidepressants.
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M What are you going to do Saturday afternoon?
w

(a) Something different from Saturday.
(b) Weekends are time for relaxing.

(c) I'm doing the laundry.

(d) It'll be really exciting.
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W | heard the meeting was postponed.
M

(@) It will be canceled tomorrow.

(b) We’ll have it at a later date.

(c) I didn’t see you at the meeting.
(d) The meeting was very interesting.
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M How many stories do you think this skyscraper
has?
w

(a) It has to be big to have hundreds of books.
(b) Maybe 15 of them are adventure stories.
(c) I would say around 200 floors.

(d) It can’t be as many as yesterday.
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M James Dean was a larger-than-life figure.
w

(a) It was because of his ordinary life experiences.
(b) That must have been a very big painting.

(c) He must have lived for a very long time.

(d) And he was a very complex human being.
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W | am really envious of Jessica’s new apartment.
M

figure RSt 1= ordinary &5t

F
L
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(@) You must not have luck on your side.

(b) It is a very nice place for me to live in.

(c) She is extremely fortunate to have found it.
(d) Jessica should have seen it yesterday.
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M | would like to take out a loan to buy a car.
w

(@) Sure. You have run up a lot of debt.
(b) Do you have some identification with you?
(c) That kind of withdrawal will require a manager’s

approval.
(d) OK. What kind of account would you like to

open?
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M We really need an out of the box thinker to give
us some guidance.

A2Z  withdrawal &2

r

w

(a) We'll look for prospective candidates ASAP.

(b) Why don’t you put some box thinkers on the
job then?

(c) You need no such guidance at the moment.

(d) Let’s review about what kind of thinkers you

need.
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W' This morning, Shawn narrowly avoided a car
accident coming to work.

<

(a) There are too many cars clogging up the streets.
(b) He saw that accident on the way this morning.
(c) I wonder if he is shaken up from the incident.
(d) The Narrows are a very tricky section of road.
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M We’ve been given the green light to design the
new monument.
w

(a) Placing the light is the trickiest thing to do.

(b) Let’s make sure it’s feasible within our
budget.

(c) Designing something new is nothing new to
me.

(d) We should’ve put it up on the roof instead.

ER
M MZ2 7|d=S CIXRISIE=S 51715 ZAR.
w

) & EX7H 7K 7ICER ool

(b) 2 ofl&k LHollA 7HSEI=S SAICE
) 22 22 CIXIRlsk= 20| M7= AHEX| 2012
) ol 2242 XIS 2lofl HRI30{0F Sh=HIL.

green light= ZAIS0H| HIRS10] (M Soil ChSh 517}, QIS Lst
Ch M2 7|E929| CIXRIS S=E 8018 ERteo= HaliEl ofit
LHOIM CIXIQIS 2tAdst 4 Q| iRk (b)7} 7+t =&st SHolct



10

M Make sure you don’t drive through the red light.
w

(a) There’s an alternate light around the corner.
(b) I'll wait until it turns into a red light.

(c) We can’t get pulled over too many times.
(d) You need to relax. | know what to do.
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M Have you seen how the clouds have become
darker?

W Yes, | hope you brought an umbrella.

M What do you mean?

w

(a) Maybe we should go outside.

(b) It is probably going to rain soon.
(c) Everyone should buy an umbrella.
(d) It’s a very sunny day today.
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W I’'m sorry. | didn’t mean to hurt your feelings.

M You made me really upset today.

W s there anything | can do to make it up to you?
M

(@) You have a jealous personality.

(b) You'll just get false hopes.

(c) Could you pretend to like me?

(d) Just give me a heartwarming hug.
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M What is your purpose for coming here to this
country?

W | plan to sightsee and to visit friends.

M How long do you plan on staying here?

w

(@) When | finally get a visa.

(b) Until my friends come to visit.
(c) As long as | have friends.

(d) Till the end of the month.
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W Dad, can you make sure | get up early tomorrow?

M OK. Is there something important you need to
do?

W Yes, my science project is due and | still have
things to finish.

M

(@) Make sure that you get up early.

(b) I hope you finished your science project.
(c) Remember that it has to be completed.
(d) I can’t believe you didn’t finish it yet.
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M There’s a traffic accident ahead, so we can’t
go this way.

W So, how can we get to Aaron’s house?

M We'll take the road next to the school.

w

(a) Don’t forget to take the direct path.

(b) I would rather use the crosswalk.

(c) Quit being a backseat driver all the time.
(d) Watch out for pedestrians on the road.
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M Filing income tax returns is really stressful.
W | know. Last year | had to owe money back.
M If | owe this year, | might just take out a loan.
w

(@) You should wait until someone gives it to you.

(b) If you do, you risk becoming bankrupt.

(c) Asking for financial assistance can always
help.

(d) It’s very profitable to do something like that.
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M My students are always acting up in class.
W Do you need any assistance?

M Sure. What do you think | need to do?

w
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(@) | told you that | can’t help you anymore.

(b) Establish rules and guidelines for the class.
(c) You should take them to a theater to act.

(d) Give them access to what they need.
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W | hope the police can put an end to all the
crime in our neighborhood.

M Well, Congress just passed a bill to punish
criminals with harsher consequences.

W Then hopefully they will think twice before
breaking the law.

M

(@) I shouldn’t make up stories like that.

(b) Mitigating circumstances made them free.

(c) The allegations against them were unfounded.
(d) And things such as assault will decrease.
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M Jane, remember to be courteous to my mother.
W | try every time, but | think she hates me.

M No, she doesn’t. Why would you think that?

w

(a) She’s probably still holding a grudge.
(b) I’'m just grateful for her hospitality.

(c) Next time we’ll just go for it all.

(d) You stood me up last time we met.
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W The mayor has fallen out of favor with the people.
M | know. | read that his popularity has diminished.
W What do you think he could do to increase it?
M

(@) He was very inappropriate the other day.
(b) Show some remorse for his mistakes.
(c) What he’s done is not relevant now.

(d) This whole situation is unbearable.
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Listen to a conversation between two friends.

W Have you heard of the latest Tom Cruise movie?

M Yes, | have. I've been dying to see it since | saw
the trailer last month.

W They say his character is a professional
matchmaker but is unlucky in love in his own life.

M In the newspaper, it said the movie theater will
do a screening for the first 200 people to come
tonight.

W | don’t have plans tonight, so | say we should go.

M OK. | just hope they make a sequel to this
movie. | just love him.

Q. What is the conversation mainly about?

(a) A person who makes matches for people

(b) How a person unfortunately died last month
(c) An upcoming movie of the man’s favorite actor
(d) The screening event happening later today

£ ZI70| LHEIE B2,

W E 32=x0| 2|4l Ftoff7| EULI?

M 8, EQI0]. X[t Zofl ol oM 2 0|S2 TNt B0 40 FHH2L
W 19|

Seto] T2 SOhEo e AERAAIE Xt7| 2ol Hol2
K| =2t
M 2o Eu| SEolM 25l M2k 2000 4SS & A
2iE.
W ot 2= off 72 gi=tl, 22| =22 71Xt
M Z0}. 0] Gak= £HE TSUCH Z70. 1 87 AT Z0L
Q. thste] F& U827
@

) AIRIE B0HE A= AR

(b) =¥5|= x|t ol AlZIo| o{EA ZA=XI
(c) ExI7t Z0teh= HHi<R2| 7HS ol S5t

(d) 2= 57 Til=l= 4F oMIE

- oo
FARZ2 2 WS M & 32=0| Fstof el 0 |0F7|oLT'_ UCE ot
X|2foll ‘EXh= Sstof|
£ Higictn 2sie g, &=
20| M=k 200 A O|HIEof| 2 ofFo|X2t EH§|-_| FE '—H%Q
2 27l ojFck
be dying to ~of1l A0 R ZACICH trailer 6I2™ matchmaker Z
= 202! unlucky &33HX| 25t screening 4Y sequel £&

o~
N
0%
i
pl)
=0é
1

22

Listen to a conversation between two friends.

W | can’t believe your brother let the cat out of
the bag!

M He’s really sorry. He didn’t know it's supposed
to be a surprise party.

W You weren’t supposed to have a clue about

this.

| know, but accidents sometimes happen.

W When your mother finds out, she is going to hit
the ceiling.

M Oh no! Really? Well then, | better be surprised
for my party then.

<

Q. What are the two speakers mainly discussing?
(a) The man’s surprise party being leaked out
(b) An incident that happened at the party

(c) The man’s mom getting into a fight

(d) No clue about how a cat escaped
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Listen to a conversation between two friends.

W This current administration is doing nothing to
help the homeless.

M What do you expect? There are other problems
to worry about.

W How can you say that? They could at least
pledge to do something.

M They shouldn’t do that. Our schools need to be
focused on first.

W | just guess we’re going to disagree on
everything, huh?

M Yeah, | think we are going to differ on many
topics.

Q. What is mainly happening in the conversation?

(@) Which schools need help the most

(b) The role the government should play

(c) Disagreements on public policy issues

(d) A discussion on the plight of the homeless
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Listen to a conversation between a professor and a student.

W Professor? | apologize for being so tardy.

M If this keeps up, the university might have to
suspend you.

W I'm just having a hard time waking up lately.

M What’s going on?

W The motivation to study just isn’t there anymore.

M Maybe you need to take some time off then.

Q. Which is correct about the woman according
to the conversation?

(a) The will to learn is gone in the woman.

(b) School officials have expelled her.

(c) She has intense insomnia nullifying sleep.

(d) The woman hasn’t shown up for classes.
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Listen to a conversation about a fundraising event.

Are you coming to the fund raiser tonight?

I’'m not sure. I’'m tied up with work right now.

| told you about this event over a month ago!
I’'m sorry, but a colleague is on maternity leave.
Well if you get a chance, come by the convention
center.

W There’s a lot here to finish, but I'll try my best.

=Ts=s=2=s£2

Q. Which is correct according to the conversation?

(@) The woman is carrying some funds.

(b) Maternity leave overlaps with a fund raiser.

(c) The man is occupied with a convention.

(d) The woman was sidetracked by other work
to do.
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Listen to a conversation between two colleagues.

W Have you been able to identify any lethal
hazards around the area?

M | investigated the space around the tree earlier.

W And did you find anything?

M Yeah. The tree itself is taking in contaminated
groundwater.

W OK. Let’s corner off this area then.

M The other shrubbery in the area has been already
checked as well.

Q. Which is correct according to the conversation?
(@) The hazards are not dangerous right now.

(b) Groundwater is providing nutrients.

(c) Plants in the vicinity are at risk.

(d) Abandoning the trees is an option.
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Listen to a conversation about a report.

Jessica? You didn’t finish the report due today.
I’'m sorry. It must have slipped my mind.

You really have to stop procrastinating at work.
Could you just give me an extension until
tomorrow?

| guess so. Just be grateful I'm in a good mood.
Trust me, | am. | won’t let you down.

==

==

Q. Which is correct about Jessica according to
the conversation?

(@) There’s no time to finish the report.

(b) Her memory is impeccable.

(c) She drags her feet at her job.

(d) Any remorse in her is gone.
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Listen to two friends discuss a film.

W The documentary on the Holocaust was
visually stunning.

M I’'m in agreement with you on that. It brought
me to tears.

W Do you think you could have survived?

M Me? | don’t know. There’s a certain inner
strength you have to possess.

W Yeah. All the torture day in and day out had to
have taken a toll.

M Be grateful that we weren’t put in that position.

Q. What does the woman ask about?

(@) The kind of character one needed to survive

(b) If the man could have endured the horrible
experience

(c) The daily routine of being a prisoner of war

(d) How much a toll the Holocaust took on people
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Listen to a conversation between two colleagues.

W Our children’s test scores are lagging behind

the national average.

If it doesn’t improve, we'll lose the grant money.

I’m not sure if there’s anything that can be done.

We could hold study tables every night after

school.

W That just might be what we need.

M Let’s put this plan to the school board for
approval.

===

Q. What can be inferred from the conversation?

(@) The grant money can be replaced.

(b) The students are skirting success.

(c) They will adopt a new strategy to raise
grades.

(d) Extra study sessions will be held before school.
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Listen to a conversation about a new planet.

M It looks like they’ve found a new planet in our
solar system.

W Really? | wonder what NASA has planned then.

M They’re going to send an unmanned spacecraft
there in about a decade.

W That’s a lengthy wait, don’t you think?

You do have to plan for these things.

W Yeah, but I’'m sure they’ve already planned for
something like this.

<

Q. What can be inferred from the conversation?

(a) Scientists will first send robots to probe the
planet.

(b) NASA will land on the planet in 10 years.

(c) Projects like this require no preparation.

(d) We know all the planets in our solar system.
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Food photography is an important part in
presenting food to possible customers. How
this is achieved is by using food stylists. The
job of the food stylist is to make the food look
as attractive as possible in photographs. Many
stylists are professional chefs themselves, so they
know how the final photograph should look. Some
techniques include using white glue in lieu of milk
and using heavy cream instead of milk in bowls of
cereal to keep the cereal from getting soggy.

Q. What is the main idea of the talk?

(a) Many food photographers have had culinary
training.

(b) Cereal can look better if the milk is heavy
cream.

(c) Food photography aims to create the most
enticing images.

(d) A photo technique is to use glue to replace
milk.
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Health Secretary Harry Chow announced on
Thursday that late last night, a 65-year-old
woman had tested positive for the H5N1 bird
flu. The woman recently came back home from
Hong Kong after visiting family on the Chinese
mainland. With this case, the government decided
to upgrade the bird flu alert to serious. This means
that there is a risk of catching the disease. So,
remember to take precautions when stepping
outside and to clean and cook all foods properly.

Q. What is the talk mainly about?

(a) A deadly type of flu rearing its head

(b) Safety measures needed against the bird flu
(c) A woman coming home with a sick bird

(d) The seriousness of a lady’s medical condition
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Rebel Trader, the novelty and costume shop,
has sold its last Halloween costume. A message
on the store’s website said that it was out of
business and the store did not answer repeated
phone calls. Rebel Trader was a Northpoint City
institution for the past 35 years selling novelty
items, costumes, tickets, and other knickknacks
to the community. The building that housed the
store will be torn down shortly and a new hotel
will be built in its place.

Q. Which is correct according to the talk?

(@) Nothing will be erected after the demolition of
the store.

(b) The store’s online site requested people to call
their office.

(c) Rebel Trader was a longtime business in the
community.

(d) The merchandise was the reason for going
under.
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If you ever drive through the town of Coober
Pedy, Australia, you might not see any people out
and about. The reason for that is because many
of the people in Coober Pedy live underground!
The average temperature is between 30-32
degrees centigrade. Because it is a mining town,
the residents there realized that the mines itself
were actually cooler than above ground. So,
most residents there refurbished the old mines
and turned them into homes. They can even be
outfitted with electricity and other comforts of
surface living.

Q. What is correct about Coober Pedy in the talk?

(@) The houses underground are not usually
furnishable.

(b) Coober Pedy has an uncomfortably hot
climate.

(c) Living above ground is more convenient than in
the mines.

(d) You cannot have electricity in these
subterranean homes.
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The Aurora Borealis or Northern Lights are natural
light displays seen at night usually around the
polar region. Photons released into the Earth’s
atmosphere are the primary source. Photons can
come from atmospheric atoms gaining an electron
or losing them and returning to a ground state.
The atoms are energized from solar winds from
the sun coming into the Earth’s magnetic lines.
The lights usually come in three colors: green, red,
blue and sometimes a mixture of colors.

Q. Which is correct about the talk?

(@) The northern lights are a manmade visual
manifestation.

(b) Seeing the lights is possible anywhere in the
world.

(c) Photons can come from the air as well as the
ground.

(d) The emission of photons creates the color
patterns.
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The Blindside: Evolution of a Game, written by
Michael Lewis, is about how the NFL offense has
changed over the past 40 years due to dominant
defensive players such as Lawrence Taylor, who
increased the importance of the position of left
tackle. The second story involves a professional
athlete named Michael Oher and his humble
beginnings from homeless youth to professional
left tackle playing in the National Football League.
This book turned into a movie with the same title
starring Sandra Bullock.

Q. What can be inferred about Michael Lewis’
book?

(a) This book discusses only the career of
Lawrence Taylor.

(b) Left tackles are less important due to a dominant
offense.

(c) It is critical of the plight of the urban poor.

(d) The movie will have some elements of the
book in it.
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Thank you again for attending the field trip. |
hope you had a wonderful time because | did, as
well. So | would like to remind you of next week’s
annual conference for parents and teachers. We
are moving to widen participation in the upcoming
conference and to bring more parents in, as we’ll
be discussing the budget proposal. As mentioned
in the letter of invitation, you should arrive at the
auditorium before we start the conference. It would
be better for you to come early since we’ll be
serving light snacks and refreshments at 6 o’clock.
| really hope you enjoy the time having a word with
other parents and teachers. Moreover, two special
guests—the founder of this high school, Mr. Steve
Smith, and his wife—are expected to come. For
more information, visit www. westfieldschool.hs.kr!

Q87. What is the main purpose of the talk?

(a) To urge parents to participate in the
conference.

(b) To describe requirements for participants.

(c) To explain how to get along with unfamiliar
people.

(d) To provide necessary information for students.

Q838. Which is correct according to the talk?

(@) The conference is held twice a year.

(b) Parents and teachers will be provided with
snacks after the conference.

(c) The conference will be discussing various
problems except the budget.

(d) One of the special visitors established the
school.
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In today’s biology lecture, we're talking about ants.
Many human societies around the world make
use of ants in medicinal therapy, rituals, biological
pest control and even in cuisine. Ants are often
considered beneficial insects to humans as they
have been widely used in life. But some species
of ants are characterized as pests, primarily those
that are dominant in human habitats like urban
areas. Let’s look at two examples. First, black
carpenter ants can hollow-out trees, infest wooden
buildings, and cause damage to other structures.
Another species, yellow crazy ants, were brought
accidentally into northern Australia and Christmas
Island in the Indian Ocean. This led to ecological
damage in a wide range of tropical and subtropical
environments. An overpopulation of ants can have
harmful effects on the environment. Therefore, we
need to control ants, considering both positive and
negative effects.

QB39. What is mainly being said about ants?

(a) They are helpful in various aspects of daily life.

(b) They must be eradicated from metropolitan
areas.

(c) They should be considered with caution
despite their usefulness.

(d) They enable an ecological system to keep in
balance.

Q40. What is correct according to the lecture?
(@) People often find ants in every corner of the
city.



(b) People are required to protect insects as ants
are gradually disappearing.

(c) The population of ants has sharply increased
over the last few years.

(d) Ants are often used for beneficial purposes.
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W My throat is really sore for some reason.

M

(@) Your face is turning pale.
(b) Maybe you have gotten cold feet.
(c) The hospital is far away.
(d) You should take some medicine.
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M We can't listen to her. She’s a wolf in sheep’s
clothing.
w

(a) Wool looks very good on her.

(b) | wouldn’t trust her, either.

(c) We should take advantage of the sale.
(d) You're right. It’s too loud in here.
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W Why is Diane making a long face?
M

(a) She doesn’t want to feel unattractive.
(b) Short faces are easier to sculpt.

(c) Because getting fit is important to her.
(d) She had a very tough day at the office.
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M Please take the time to stop your smoking
habit.
w

(a) It’s part of the custom here.

(b) I've been meaning to get around to it.
(c) It’s been three weeks since | quit.

(d) The smoking lounge is in the next room.
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W' The cost of living in the city is higher than in
the country.
M

(@) We get a furnished apartment instead.
(b) What country are we talking about?

(c) Paying a lot of money is not a good idea.
(d) A big part of it is paying for rent.
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W I’'m so sorry. | heard someone stole your car.
M

(@) The buses weren’t running this morning.
(b) I inadvertently left the keys inside it.

(c) My friend Rob said it was a hit and run.

(d) I rented a nice sedan for the upcoming trip.
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M What do you think about that rice cooker?
w

upcoming £ S

(a) He prepares the best rice in the city.

(b) That type of cuisine is the most profitable.
(c) I haven't tasted the cook’s food yet.

(d) It’s too expensive for my liking.
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W You need to get in touch with your mother.
She’s worried.

M
(a) It’s remarkable how much she doesn’t talk to
me.
(b) My mom told me that everything’s fine with
dad.
(c) | tried already but she is unreachable right
now.
(d) She knows if | touch her she could get sick,
too.
EE)
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M Right now I’'m living on a shoestring budget.
w

a) Maybe it’s time to buy new shoes.

b) Everybody knows that money doesn’t grow on
trees.

(c) You could get by with only wearing sandals.

(d) I think you need to get a full-time job.

(
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M Integrated Phone Inc. has broken new ground
in the cell phone market.
w

(a) Purchasing a new phone can be very expensive.

(b) The priority should be to get there as soon as
possible.

(c) All they have to do is repair it and it’ll be fine.

(d) Their phones are supposed to be very
durable.
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W How can | help you?

M Yes, | would like a cup of coffee, please.
W How do you take it?

M

(@) I'll take it out with me.

(b) That will be all, thanks.

(c) With just a little sugar, please.
(d) I'll take a mug, if you don’t mind.
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W John, do you have your dental appointment
today?

M Yeah, but I’'m thinking about canceling it.

W | don't think that’s such a good idea.

M

(a) He already told me | have high blood pressure.

(b) Canceling it is the best idea right now.

(c) I can get the checkup at another time.

(d) Seeing physicians is not a thrill for me.
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W Hello? Could you put Stanley on the phone?
M | can’t. 'm on the other line.

W Well, when will you be done?

M

PGS

(@) Whenever he gets on the line.

(b) I will be finished as soon as | can.
(c) Sorry, but it’s impossible.

(d) I won’t have Stanley talking too long.
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W I'm starving. What’s for dinner?

M How about getting some takeout?
W Sounds good. Let’s get some Indian.
M

(@) I don’t want to pay any gratuity.
(b) OK. Let’s go and dine in.

(c) My mouth’s watering already.
(d) Sure, I'll get the leftovers.
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M Hi. Could you tell me how to get to the bus stop?
W Sure. It is right in front of the movie theater.

M Where is the movie theater from here?

w

re
o

o

(a) You’re standing in front of it now.

(b) It’s right in front of the theater.

(c) Go straight for two blocks and turn left.

(d) Go down this block and you’ll see the bus stop.

RIS, b SR O 71K 22 ZARL0I2?
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W Can | help you?

M | demand to see the manager!
W What seems to be the problem?
M

(a) It’s showing that | made a profit.

(b) The problem was resolved days ago.

(c) I wasn’t allowed to redeem my gift card.
(d) The manager has the right to see someone.
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M The new fitness center down the street is open
24 hours a day.

W Let’s go down there and check out the facility.

M Count me in. I’'m eager to get a work out in.

w

(a) Being at the gym all night long won’t work out.

(b) Strenuous exercise always makes me feel
good.

(c) Maybe it will have a fitness facility after all.

(d) I was just stretching a few minutes ago.
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Soon, the social security system won’t have
money for the elderly.

That’s horrible. Senior citizens have done so
much for this country.

W | hope it gets fixed by the time I'm their age.

M

=

(a) Old people will pay for the social security system.
(b) Where do you propose they fix the age?

(c) We might have to get used to retiring later.
(d) Overpopulation is not a factor in this trend.
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M Susan, | appreciate you finding a way to cut
pollution in our city.

W It was all about finding an alternate source for
fuel.

M | had no idea you could use cooking oil as fuel
for cars.

w

(a) A good note is that everything is disposable.

(b) There is a distinctive odor to the air now.

(c) The consequences of this could be far-
reaching.

(d) Emissions for this will increase however.
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W People really should volunteer to help more.

M | just started volunteering at a local soup kitchen.

W That’s a great idea. Do you have any more
information?

M

(@) I'll need more information from you.

(b) Let me get back to you.

(c) The kitchen will be closed for a time.

(d) We need more volunteers, not more information.
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Listen to a conversation between a couple.

Could you drop me off at the department store?
Sure. Where do | need to go?

Head over to the sidewalk towards your left.
OK, | see it. Here or farther down?

Go right in front of the Quickie Mart. You can’t
miss it.

W OK, here we are. | will see you soon.

=Ts=2=s=x2

Q. What is the man mainly doing in the conversation?
(a) Giving instructions on where to drop him off
(b) Heading off to do some shopping

(c) Locating where he needs to go to

(d) Purchasing something at the convenience store
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Listen to a conversation between two friends.

W [ just bought the 1st edition of the Pablo Escuela
series.

M Really? Did you know that | helped translate
them into English?

W Wow! You really did some great work.

M Thanks. Being bilingual is a good talent to
have.

W Maybe | should learn a different language, too.

M It could help you out with your job as well.

Q. What is the conversation mainly about?
(a) The usefulness of being bilingual

(b) Great literary works from other countries
(c) Being able to interpret foreign literature
(d) Which Pablo Escuela edition is the best
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Listen to a conversation between two friends.

Do you mind if we spilit the bill for lunch today?
Sure, no problem. Low on cash this week?

No, I'm starting to put myself on a budget.

| was thinking about doing that myself soon.

It really helped me to become more responsible.
You might need to teach me how to set up

a budget.

=22

Q. What is the conversation mainly about?

(a) Dividing the portions of the meal

(b) A way to becoming more fiscally accountable
(c) The joys of doing a project together finally

(d) Setting out to copy each other in everything
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Listen to a conversation about cancer treatment.

M In ten years, I'll be able to eradicate cancer.

W Doctor, what if the cancer cells adapt to your
cure?

I’ll confront and annihilate those new strains.

W Don’t you think you’re being just a little
overconfident?

Not at all. This is something I’'m meant to do.
W Okay. | just hope you’re right.

=<

<

Q. Which is correct about the doctor according to
the conversation?

(@) Modesty is a prominent characteristic.

(b) The cure eliminates only some cancers.

(c) He is being a little brash.

(d) The doctor will find the cure soon.
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Listen to a conversation about a dissertation.

W I’'m almost done with my dissertation.

M You have spent so much time on that.

W In hindsight, | see that | should have started
sooner.

M Do you think that would’ve helped?

W Yeah. Unfortunately, | always procrastinate on
big projects.

M That’s something you’re just going to have to
work on.

Q. Which is correct about the woman according
to the conversation?

(a) The dissertation became a part of her life.

(b) She recognized her mistake.

(c) The woman is very disciplined.

(d) Beginning early helps her work.
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Listen to a conversation between two colleagues.

M We weren’t able to break the formula down
into its basic components.

That might set us back a few months.

Believe me. We’re working on it day and night.

If you fail, we’ll lose our funding.

Relax. I'll push everyone as hard as | can.

You better or it’ll be your head as well as mine.

O ==2=s=2¢=

. Which is correct according to the conversation?
a) The formula is very volatile.
b) Reaction has been positive.
c) Diffusing the situation is impossible.
(d) The man won’t concede to failure.
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Listen to a conversation between two colleagues.

W Have you found the source of the virus?

M Yes, it seems to have originated in contaminated
pigs.

W Will you be able to create an antidote?

M If 'm able to get to my lab, there might be enough
time.

W Il make all the necessary arrangements for you.

| appreciate it. Excuse me, but | need to get ahold

of my assistants now.

=

Q. Which is correct about the man according to
the conversation?

(@) Making a cure can’t be accomplished.

(b) His current job is as a scientist.

(c) The man’s lab was inadequate.

(d) Diagnosing diseases eludes him.
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Listen to a conversation between two friends.

| think it’s time for me to get in shape.

You could join me. I’'m an avid runner.

Running would be too difficult for me right now.
Don’t worry. You really should give it a try.

I’m out of breath just thinking about it now.
Good health is just a matter of taking the first
step.

=s2s=Z¢s =

o

. What can be inferred about the man from the
conversation?

(@) Running is a piece of cake to him.

(b) The man has a great constitution.

(c) He runs on a daily basis.

(d) The idea of running seems out of reach.
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Listen to a conversation between a doctor and a patient.

M You need to start physical therapy soon so you
can walk again.

W | know. But doctor, won't my Achilles tendon
injury take a long time to heal?

M Normally yes. Fortunately, there is a new
technique that will speed up the process.

W | hope it doesn’t involve injecting a drug into my
ankle.

M No, it doesn’t. It’s a new steroid pill you can take
to quicken the healing process.

W That sounds like a very good idea. When do we
start?

Q. What can be inferred from the conversation?
(@) The shot will go into the ankle.

(b) A pill for her ankle will heal it quicker.

(c) The woman is a physical therapist.

(d) The healing will not proceed quickly.
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Listen to a conversation between two colleagues.

M We must find a way to clean the contaminated
gulf.

W | propose we ask volunteers to come and help.

M What would be the benefit of that?

W They’ll help keep some animals from extinction.

M That sounds good to me. Let’s do it.

W This disaster has done so much damage.

Q. What can be inferred from the conversation?
(a) More people working means more risk.

(b) A number of the local wildlife is in peril.

(c) Volunteers have offered to give aid.

(d) The gulf has found a way to clean itself.
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| would like to inform you, our customers, of the
improvements we have recently made to our
school because of the federal grant we received.
With the recent advances in technology, we have
installed smart boards in all of our classrooms as
well as new lighting elements that mimic natural
light to keep students from falling asleep in
class. Also, this grant has afforded us the ability
to upgrade the school cafeteria menus to more
healthy ones. We hope this will make our school
better in the long run.

Q. What is the talk mainly about?

(@) The new smart blackboards will improve
classes.

(b) Students will like the new and more diverse
school menus.

(c) Having brighter lights will help students see

better.
(d) Thanks to the grant, the school has been
upgraded.
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The Quebec Winter Carnival is a wonderful place
for the family to go. The biggest attraction is
an ice palace that is built for Bonhomme, the
Carnival’s guest of honor. The palace even has an
ice dungeon for those who don’t pay homage to
Bonhomme. It’s obviously a joke dungeon though.
Other events at the carnival include a public
auction to raise funds for the carnival, skiing,
snow rafting and sledding on hills. So bring the
family to the festival for some winter fun!

Q. What is the talk mainly about?

(a) The features of the ice palace for Bonhomme
(b) Things to do at night after the festival

(c) A wintry wonderland to visit in Canada

(d) Why Bonhomme is so important to the festival
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Communicating can be a tricky thing, especially
for bees. However, they communicate in a way
that humans like to spend a lot of time doing,
dancing. The bees have 4 primary dances:
grooming, tremble, waggle and circle dance.
They each have different functions. The grooming
signals everyone to groom each other, the tremble
calls for more receiver bees, and the waggle and
circle dance tell the locations of pollen, but for
different distances. Maybe if we do the foxtrot, it
could actually mean | love you.

Q. Which is correct about bees according to the
talk?

(a) Bees seem to enjoy doing their forms of dance.

(b) The circle dance tells other bees about
pollen.

(c) Getting attention is the function of the tremble
dance.

(d) Wiggling and going around in a circle is the
signal to fly out.
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Within the next ten to twenty years, you might
see farmscrapers in the city skyline. This is also
known as vertical farming. By using advanced
greenhouse technology as well as hydroponics,
these buildings would be able to produce fruits
and vegetables in the middle of the city. Some
advantages to this idea are that you could grow
food all year round. Extreme weather such as
drought and flooding couldn’t affect the crops.
Last, the controlled environment would do away
with pesticides and herbicides.

Q. Which is correct according to the talk?

(a) Growing hydroponic food would still be seasonal.

(b) Farmscrapers will float in the skies over cities.

(c) Climate conditions won’t be a problem for
vertical farming.

(d) Insect control will still be needed in vertical
farming.
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Lacrosse is the name given by Native Americans
to the sport they created, some say, as early
as the 12th century AD. The game is played
with a rubber ball and long-handled stick with
a small mesh net on the end. In many of the
Native American tribes, lacrosse was played to
settle disputes between tribes, to heal the sick,
to prepare strong, virile men, to prepare for war,
and also was just part of a night of partying.
These games were also long as well, starting from
sunrise to sunset and lasting for two or three days
straight.

Q. Which is correct about lacrosse in the talk?

(a) Many of these games led to war between the
tribes.

(b) The sport was invented around the 1100’s.

(c) The matches only went on for a short while.

(d) Americans were the first modern people to
play it.
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Today in local news, the Cougarton school district
has moved to shut down all extracurricular
activities for their high school citing the economical
downturn as the deciding factor in this unfortunate
turn of events. A spokesperson for the school
district said that it doesn’t foresee a return of
these student activities coming back anytime
soon. No doubt this decision will affect the families
in this school jurisdiction as the Cougarton sports
teams are known to be one of the best in this
state and in the nation.

Q. What can be inferred from this news report?

(@) In time, the entire school will close up shop.

(b) Everyone in town is in financial trouble.

(c) Many students and parents will be disappointed.
(d) The sports teams will move to another school.
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As a representative of American aviation, | am
sorry to give you bad news. | share your loss
and send you my deepest sympathy. A JetBlack
airplane carrying more than 100 passengers and
15 crew members crashed after taking off from
runway 6, leaving substantial damage in its wake.
The aircraft bound for Tokyo took off from Mac-
tan Cebu international Airport in the Philippines
yesterday evening. Twenty minutes after reaching
an altitude of 6,000 feet, contact was lost with
the aircraft. The aircraft then lost altitude at high
speed until it fell to the ground and shattered into
pieces. Wreckage was scattered over more than
1 km. All passengers and crew members were
killed. The cause of this serious accident is yet
to be discovered. American aviation authorities
announced that the pilots might have performed
various maneuvers causing the plane to crash to
the ground.

Q837. How many crew members were on board
the airplane?

(@) 20

(b) 9

(c) 15

(d) 50

Q838. Where was the flight’s destination?
(a) The Philippines

(b) Mac-tan Cebu International Airport
(c) Japan

(d) America
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Today, we’re going to talk about the correlations
between vitamin D and cardiovascular risk. Recently,
there have been studies regarding patients with
cardiovascular diseases including heart attacks,
stroke, heart failure and hypertensive heart
disease. A study by researchers at the University
of Arkansas suggests that vitamin D plays a vital
role in preventing further cardiovascular disease
in people with a history of cardiovascular disease
because vitamin D deficiencies increase the
risk of death from cardiovascular disease. Most
people commonly get vitamin D from their diet and
nutritional supplements. But it is hard to get enough
vitamin D by eating certain kinds of food and also,
vitamin D from certain foods is not biologically
active. In fact, enzymatic conversion in the liver
and kidney from sunlight exposure is required
for vitamin D to be activated. Vitamin D can be
synthesized by exposure to sufficient sunlight,
specifically ultraviolet rays, so it is essential for
patients with cardiovascular diseases to get
enough sun exposure.

QB9. What is the main topic of the talk?

(@) The negative results of sun exposure

(b) How to activate vitamin D from external factors

(c) The reason why cardiovascular disease
patients need to be exposed to sunlight

(d) The similarities between vitamin D and
ultraviolet rays

Q40. Which is correct according to the talk?

(a) Research on cardiovascular disease patients
has never been conducted before.

(b) Vitamin D from dietary intake needs activating.

(c) Vitamin D is vulnerable to exposure to light.

(d) Those with cardiovascular problems can’t be
safe under the sun.
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M What kind of cloth is that?

w

4 ()
9 (@

14 (d)
19 (@

24 (d)
29 (a)

34 (d)

40 (b)

(@) The cloth is not important.

(b) The designer of this was Andy Hong.
(c) This sweater is made in Italy.

(d) It’s a special type of suede.
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W s this order for here or to go?
M

(@) Yes, that’s the correct order.

(b) ’'m parched, so something to drink.
(c) The minimum amount would be great.
(d) I haven’t made up my mind yet.
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M Could you give me a few dollars?
w

(@) Money is always good to have.

(b) The bank is just down the street.

(c) I could lend you a couple of bucks.
(d) There’s not that much left to pass out.
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W What are you doing during the Christmas
holiday?
M

(@) | kept track of the number of presents.
(b) Cooking Christmas dinner was tough.
(c) Maybe watching an up and coming movie.
(d) Celebrating the holidays is not my specialty.
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W You had better pick up the dry cleaning today!
M

(@) You need to tell me where you put it first.

(b) The cleaner said it won’t be ready until
tomorrow.

(c) He tried to dry it but he didn’t have any time.

(d) 'l rummage around the basket in a minute.
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W There’s nothing | hate worse than being stuck
in traffic.
M

(a) Commuting with friends is a good way to bond.

(b) We should just try jaywalking instead of this.

(c) If we take the next detour, we will be free of
this.

(d) Hailing a taxi at this point sounds like a good
idea.
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M My house was broken into in broad daylight
earlier today.
w

(@) You should purchase a security system.
(b) Then you need to fix your house.

(c) Nightlights are good for reading before bed.
(d) Your house should have a warranty.
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W Remember to empty the trash first thing in the
morning.
M

(a) It was filled up last night.

(b) I hate inhaling smelly things.
(c) There was a lot of dust in there.
(d) | woke up at noon yesterday.

e
W OFZloll MY 2X Mef|7|S2 HIZ RS 716,
M

(a) 121 Ofstiol RHSO1
(o) o 2= 74 3 &)

) 1 2l 2Rz} E29l01
(d) OfRk= Z0i Lofxtof,

OFEoll 7He BiXf Mef7|S2 HIR2k= XIAlol &F| W20l 2 2=

57| Cin Ok &= o8 (b7t 7FY XIHAZLY. (a)= KXl
X|Alet Eithel= S0|22 MHESHX| 24t

empty HICH fill up AHRCH inhale &2 SO[0MAICH

smelly 2% L=
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W Discussing eating meat or not is like beating a
dead horse.
M

(@) Hurting animals is a very cruel thing to do.

(b) We need to cut back on the amount of pigs we
eat.

(c) I don’t want to talk about it at all with you.

(d) Well, I'm committed to staying a vegetarian.

beat a dead horse Ct 2t ZXIE =3siCk &T5CH cruel RIS
cut back SA5ICt commit FE5ICH
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M We have to find some common ground to progress
any further.
w

(a) Then you need to disclose any information
you have.

(b) If you look around, you can see it all around you.

(c) This was an enlightening meeting today.

(d) You’re excluding the similarities that we share.

EER

M S Cf ZAI {2 BEEKs 714k Slojof BiLIC,

w

(a) TR EAI0| 71X HEE DoHSIMIR.

(b) T2 SRR HA R0 AEX| 2 4 oI,

(c) i Blok= OFF RuRELICE

() AL 2217t BRSH= RARS HiREHL R0IR.

3
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22 (d)= ofA5ict
common ground 35
=01 exclude HHHIGICH

7[Ht disclose #15Ict  enlightening 7S

Part |l
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M | need to recharge my batteries.

W Why? Have you had a hectic week?

M My boss had me working on an urgent project
all week.

w

(a) Your schedule sounded pretty tied up.

(b) You need an outlet to recharge your batteries.
(c) The boss is quite a project to deal with.

(d) If you have plenty of time to finish it.

RETO| e,
oH? A1 0] bR B 8 507
MADHUEY U 8t ZRHES AZVIE

==

(a) AAIEO| tpsishic] 74 ZL |

(b) HHE{2|S STI5t2{H ZMETL s,
(c) Ul &AL Hxil-‘rll-r

(d) 24 Alzto] Z=25H

[P B B T8 | THR0) APt & AR
IR OfRIZE B 4 S

|
5 ol SEoRE AsZ0| W
WSS FHRHs (@7} 7K KIBARIC,
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recharge one’s batteries (27| /22 2lsH) FAIS FIGICE RHETGICH
hectic AIQ0| HHE urgent 25t outlet ZME

12

M Let’s go to the secondhand store to shop.
W | really don’t like buying things from there.
M But the stuff there is so inexpensive.

w

(@) Too many extravagant items there.
(b) I don’t like wearing used clothes.
(c) Nothing is ever on sale there.

(d) All the items are not too luxurious.

EE)
M F0F 71l 7t AESEAL
W LE= H7IM 22 A= 74 TRt 8404,
M x|t 7{7| 2710] Y MHSHHOL
w
(a) AfRIARIR S710| L4 Blo}:

| 24Tt 2Ho|oF:

(o) F7H B R &7
(c) 7A710fl= Eelsk= 270 glol.
(d) BE E710] HF AIRIAZZI 220

F0E 70l 7hM ASIK= FXe| MRt 4Lk Ske oiXtel &
Ho= JHE HESH W2 (b)oICh LiHXl= YerEel STE 7|2t
7H2|7t Hok

secondhand store S1F 71| extravagant AFX|A2I2  used
£1°| luxurious 322
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W I've decided to move out of my parents’ house.

M Really? That could be very expensive to do.

W Oh! Do you know how much it is to rent an
apartment?

M

(a) Cheap if the stock prices are good.
(b) First, you need to move out.

(c) It depends on what you want.

(d) It doesn’t cost that much at all.

Ex)

W E2d oM L7 |2 3Hod.

M Y7 Je{e{H =0| 05 Bo| = Hid|,
W off OlIE =7t Lot Fe= ef?
M

(a) 717+ PHECHA XHSHK|.

(b) 2 L= OIS Li7tof 8i.

(c) ofH OlmIEES Hsl=lfojl w2} CI=X|,
(d) 27| HIE0| To| EXk= ot

2 ZolM Let S-S = o 6XI7t OfmE Yeh=z 7t °*Df°|7<|
21 ALBZ ofol| 7He HEsH HXie| SE2 (c)olct (dy= Al
=0| OFF B0| S Z0[2 M 237 | mhZol| of=2 (K| 4ct.

move out OJAfSICH rent CHSICH stock price 7t
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M Your work on this paper is very vague.

W | don’t understand. This is what you wanted.
M Yes, but there is no detail in what you wrote.
w

(@) Maybe | need to pronounce it slower.

(b) Then the narrative will have to be changed.
(c) It was written as unclear as | possibly could.
(d) I'll look for more supporting evidence then.

ER

M X7} &2 =22 0FF ofui=SaH,

W ofahi7t et =i, O mHIM EStAIE HEOIR.
M J22ISHRI2E X Soil= MR S5t glod,

=

(@) M7t o 5| 233
(b) 2212 Oj0F7 |7F &

(c) 7+ S=Hdet I‘A(Ho
(d) 22{H RIS

s
O4xto| =20| OHOH= S5t XpMlet HFO| Sitks XIS m Qlct.
m2tM o] =29 SAES sHEsh| fiet eetez oS xtzE o

So=ZUCD 3t (d)7F 7FS AEsict

vague OH0H=253t narrative 0/0F7| supporting evidence Rt
Fok= 2
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W The unemployment rate has been rising this
whole year.

M | know. My workplace laid off 100 people
yesterday.

W What would you do if it happened to you?

M

(@) They laid me off already.

(b) Let’s call it another economic recession of sorts.
(c) Look for some job openings.

(d) I'm already suffering from unemployment as it is.

o

W = &t ol St AEE0| S5t Q04

M 27| 22| ZAI= ofx| 100ES Fal siugHol.
W ol 221 0| LojLtH ofEA| & 7Hof?

M




(a) Ol0| LIS sHa3Hol.

(b) Y& & CHE ZH| ZA7 23 SIAL
(c) T2 #Z! XI2IE HoloFx],

(d) XIZ= oln| AYxtzt &S0,

unemployment rate &E lay off F2| siusict economic
recession Z7| 2| job opening FZ! XI2|

16

W Joshua, what’s wrong with you?

M My son had to go to the emergency room this
morning.

W Oh my! What happened?

M

(@) Nothing will happen to Joshua in the future.
(b) He came out unscathed from the incident.
(c) The medics came and revived him.
(d) He was hit by a speeding bus while crossing
the street.
£
W =40} 22 2ojof?
M 0}50| 2= Oolzloll SS4of & 2tod.
W OjHLH 22& o] AU=HI?
M

(a) Y22 =0tofl7)| OFF Y IS 7ok
(b) 21 ArAOAM= OFF & QIRA0.
(c) SIAIS0] 24M F[=A|F FUOH.
(d) Z 742 mf Tk A0 XIRHOA,

O}S0| S2&0l 7t 0IRE 2= 2ol k& HA0 X|0[= A7t A
ACIT SEEH (d)7t 7FE XIHAAZC, (bl 0FS0| RARICHE= 20|
2 3ol ZHolR7t E 4 QU1 (c)= SER0| 2ol daez
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emergency room S24 unscathed 0} 2 = medic 2JAt
revive 3|=A|7|Ct

17

M That frog has just given birth to some babies.
W Frogs aren’t mammals. They can’t do that.

M OK, genius. What do they do exactly then?
w

(@) They don’t have a very long life span.
(b) Actually, they lay eggs instead.

(c) Feed off the offspring for nourishment.
(d) They have a very high metabolism.

ER

M X szt iaE M7IE 2 ok2| ZRtol.

W JliFal=s ZRSE0] Olok M77IE '2X| Rall.
M T2l TR M. T HES| sl E shed?

HFEI7H M7IE EUCHE EXIC| 2ol Ji+2lk= ZRSS0]| oLzt
M M7= ge 4 ln 2g E=rtr sh= (b)7t 7Fe &SIt
give birth to ~2 ZCt mammal ZREZ life span &% lay (&

2) gt feed off ~2 St offspring A7l nourishment Y&
metabolism &IZICHAL
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M Don’t be scared when you’re behind the wheel.

W Thanks, but you know I’'m prone to getting into
accidents.

M Would you prefer that | drive there instead?

=

(@) I don’t want to hold up traffic.

(b) If you fasten your seat belt, you wouldn’t get
hurt.

(c) It’'s OK. It’s only a short distance to go.

(d) No, | want to avoid any accidents if possible.

M 2% o Zieix| of

W D0b, SERIZELHZE AL E51H7] Sitks 7 Us 2oL
M LH7F O 47 [7ER| 216k Al W20H7?
w

270] Of=3t Xt A| EHXE7H oA

2% shltkE M2ts 5t U
Ct. olofl SXX|7t 7p7kL| BECIT B (c)7t

St (c)7t =Eaict.

be behind the wheel 2%5lct be prone to ~5t7| #/2 hold
up traffic S0l Wali7t =k
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W New York City is very multicultural.

M | agree. Especially when compared to other
cities.

W Have you thought about moving there?

M

(a) Sure, other cities are more diverse.

(b) Yeah, | like the discrimination there.

(c) No, | migrated there a while ago.

(d) Yes, the different ethnicities are a plus.
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W They really need to change the items in the
vending machines in the break room.

M | don’t see anything wrong with the items they
have.

W The items are very unhealthy and bad for you.

M

ol

(a) They should take out the bottled water.

(b) Vending machines are exceptions in that way.
(c) No one said you had to use it.

(d) That’s why they changed the items.

FAE X7 [0l = SES2 TN HHHO{OF S,
77| U= JE0il= ofF EXIVH 8= A 224,

0 4SS 2420] 2 SHED LIStE) FX| 20k
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Listen to a conversation between a representative and a
customer.

M May | help you?

W My laptop is not working properly and | need it
checked out, please.

M OK. Just give it to me, and I'll be able to make
an estimate for you shortly.

W Thank you. By the way, how would you like the
payment in?

M Paying by cash is the best option. My credit
card machine is not working today.

W That’s good to know. I'll just run to the ATM
right now.

Q. What is the man mainly doing in the conversation?
(a) Fixing a credit card machine

(b) Getting a notebook to a repairman

(c) Assisting a woman with her computer

(d) Buying something with paper money

EE]

xgin} 124 CHSHE SOAIL.

M 22 ot canie?

W R S0 Rith2 SSEIX| 20H HUS WOloRolR.

M ZUELICE 7 RO FAIR 2 7S d 4 US LIk
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M 513 XIZ0| 7Ry B3 A2 71 7Pt 05 1 WIHE

W el Sl CigolUiR. X138 XIS 212 FOPRIoIE.
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Listen to a conversation between two friends.

A

2| LHEIE E2AIL.

HLA, oA A EO] 2bM 2| OIHXIE HREoZ AT Zto],
! oSt F& o W77

A 07} 2t XIg = SOIM.

HRR2 &2 HHop?

OJAL MliEo] Algetnt 2 QUS 72t S|,

Ol Z0f 22 Z =M0} SiChm Lhs =aiz4nt

e

W What'’s the matter? You look so tired today.
M It’s the jet lag from the cross-country flight.
W And your flight was the red-eye, too.

M [I'll take some medicine and get some rest.

W Be sure you do. You have to work soon.

M Pl make sure too, thanks.

O =s2s=2=s24

Q. What is the conversation mainly about? () 32 S 2!
(a) Remedies to cure a tired body (b) &% OMHIE DA HHHE
(b) Upcoming schedule the male has (©) 71= 2t Bl oz Hg
(c) The cause of the man’s low energy (d) M&Eo] Z1Zoi| 7|0fsk=xX| o1
(d) Ways that a couple can scrutinize each other
SATE OfXte Ohit7 2% OiH|2 2o & S0I2ts AAMS
e 21T, A oflel 012 SIH=X| 2= oiXIe| Lol Aol S2
5 2P| LSS S22, LIES LsHELE. M2t 5 AR0| Lir= Cife] T L8z 82
W £ 20[of? 2= O Izl Zo|y|, 22 (c)olct
M CHE SCHH[Y S0f| ARt XS mh20i| 22, surgeon 27t 29| in surgery = diet ATt medical
W ORZHSSHOIRIEOL emergency S& 22 4& procedure +&; & contribute to
M eF 1 Z £{0{oo1. ~0f 7|of5Hct
W I 237 slf. 2 aliof Siot.
M 7= FaE|, a0k 24
Q. EH_QQI i LH_%E REA2? Listen to a conversation between a doctor and a patient.
(@) X S R 2T 2
(b) 2 US EXte| 271= W Doctor. Is there anything you can do to alleviate
(c) &%zt 7|o] 245 Hok= ol7 this back pain?
(d) 720| M2 MA| HE 4= U= U M [ can try. Are you currently taking any medication?
W No. | normally don’t take any drugs.
O ol TR H0j= 0|92 2X} oFztoll T SIEH H[37 | M | see. Well, | can inject you with some antibiotics.
= BT U B AR} RS 0iS0[2tT CHESI S BT & Alo{ofl W Oh, no. | am afraid of needles.
M Do you have any problems with taking pills

Cio SiC) MM 5 ARO| Lie= T3] FE LIBRR 22 A2
then?

(c)olet.
jet lag AIXI2 0I5t T2 cross-country flight TS Z/EHHIS  red- Q. What is correct according to the conversation?
eye ORZt 318 remedy X|2 scrutinize H25| YOtk (@) Drugs are the only way to help.
(b) The pain in the man’s back is chronic.
23 (c) An anesthetic will calm the doctor’s nerves.

(d) The patient desires an alternative to shots.
Listen to a conversation between two friends.

o

olAjel 2txto| HElE SoAl2.

W QAL ME. X 285 2A=AIZ Yo

M Al=sh 2712, 2l 285t AlAl= o] ALR?

W O, 2 OfF o= oF 20iQ.

M LZSLICEL O3, SHK| FAS =0t = 4 U=HIR.
w

M

Q

a

M Janice, your father has been taken in by the
surgeon.

What! What happened to him?

He had a heart attack and now he’s in surgery.
Have they found out why he had the attack?
The doctor’s guessing it has to do with his diet.
| told him that he needed to start eating better.

S22 ==2¢s

Of, 2 =i, M= HES0| FAMAL.
OO Yeks E&shs ol 2Xls fletXIe?

2= Fo

Q. What is the conversation mainly about?

(a) The source of a medical emergency . Hhstol ma os & 82 W27

= AN

Ir o
8

(b) Procedure to fix a heart attack (a) 20| =22 & 4 U= FUSH diHo|Ct

(c) A medical situation of a family member (b) X2l 282 Hd=o|ct

(d) If eating habits contribute to good health (c) DEEEPF 2lAte] Eoks TIgAIZ o[k,
(d) BRI FALS CHAIE CIE WS 2B
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RECE 1E L= Xt oJAL ZH| thEto|ch | am afraid of
needlesOilA GIXI7F FAS RMQUBICHE AS & 4= A=z H2
(d)olct, LIHX| 27 |= chatofl metet 4= gl
alleviate 23I5ICH inject =AISICH antibiotic 2V4A|  chronic
BHExR1 anesthetic OFEKl nerve 22t alternative CHXIES
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Listen to a conversation between two colleagues.

bl

| need you to look at all the personnel files today.
OK. Is there a problem with them?

This week we need to finish the performance
evaluations.

W Oh, | see. I'm sure I'll be able to handle it.

M Good. | expect them to be finished by Friday.
W I'll need access to your office so | can get the
files.

===

Q. Which is correct according to the conversation?

(a) The woman volunteered for this assignment.

(b) Handling the job is no easy task.

(c) This week is very slow at the business office.

(d) Finishing the task has been appointed to the
woman.
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Listen to a conversation about a raffle.

W Hey, look at this! It’s a raffle at the SuperStop.

M What are the rules?

W Just buy one hundred dollars worth of food
and you can enter.

M Are the prizes any good at all?

W There’s a cash prize and gift certificate towards
the store.

M If they throw in an espresso maker, then I’'m in!

Q. Which is correct according to the conversation?
(a) SuperStop is holding a raffle for prizes.

(b) The big prize is a type of coffee maker.

(c) You can win money if you claim the reward.

(d) There are no regulations to enter the raffle.
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Listen to a conversation between a landlord and a tenant.

M It’s good to see you again, Ms. McClusky. How
may | help you today?

W Yes, | would like to renew my lease for the
upcoming year.

M OK. | do need to let you know that our rent
prices for apartments have increased.

W It means | have to make a bigger deposit for
my place, doesn't it?

M Unfortunately, yes. | apologize for this
inconvenience.

W | understand. I'm not sure if I'll be able to stay
then.

Q. What is correct about the woman according to
the conversation?

(a) The current apartment makes her stressed out.

(b) Her new place dwarfs her old place in size.

(c) She might not have enough money for the rise.

(d) Ms. McClusky felt no difficulty in this situation.

Tl MRl hets S2Al2.
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Listen to a conversation about an exhibition.

W I've just realized that Jenny is a very talented
artist.

M We have raised a good child.

W There are so many people here at her exhibition.

M The curator said that many people here want
to buy her work.

W This is a far cry from the little girl drawing with
crayons a long time ago.

M Let’s just enjoy this night with her.

Q. Which is correct about the man and the woman
according to the conversation?

(@) They taught Jenny how to sculpt at an early
age.

(b) Both of them are evasive about the work.

(c) The man and woman are Jenny’s guardians.

(d) They see a scattering of people at the exhibit.
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Listen to a conversation about an asteroid.

M That new asteroid that was just discovered is
massive.

W I've come up with a disastrous conclusion while

observing it.

Let me guess. It’s going to collide with us.

Yeah, but not before it breaks up into many

clusters.

M That doesn’t sound good at all.

W No, we must find a solution to this problem fast!

==

Q. What can be inferred from the conversation?
(a) An impact with the new asteroid is imminent.
(b) Finding new asteroids usually brings disaster.
(c) Breaking into clusters will lessen the collision.
(d) The asteroid will pass the Earth very closely.
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Listen to a conversation about environmental issues.

M We have to bring awareness about the pollution
in the world.

W | was thinking that we could create a website
to address it.

M That’s a great idea. Let’s brainstorm possible
pollution concerns.

W Noise pollution is a big concern in areas of high
populations.

M | don’t know. To me, groundwater contamination
seems more prevalent.

W Are you kidding me? We need to concentrate
on problems in the cities.

Q. What can be inferred from the conversation?
(@) No one seems to want to be the leader.

(b) There is a lot of indecision between them.
(c) Acid rain is a possible type they could use.
(d) Many forms of pollution can’t be addressed.
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When you think about ink, naturally you think
about a writing pen. However, ink can be used as
a form of protection. Cephalopod ink is used by
squids as a defense mechanism. It can be used
in two different ways. First, it can be used as a
dark, diffusive cloud to obscure a predator’s view.
The second use is to make a pseudomorph which
is ink with more mucus which allows it to hold its
shape. Predators mistake it for the creature and
attack it, letting the squid escape.

Q. What is the talk mainly about?

(a) How squids defend themselves with ink
(b) Ways to fool marine attackers and escape
(c) The varieties of commercial ink available
(d) The ways humans can use cephalopod ink
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Police pepper sprayed student demonstrators
on the campus of Northern University today. The
students were protesting an increase of tuition
by a record 15% yesterday. 20 people, 10 of
them students, were arrested for their part in
today’s activities. The police said it was an unruly
crowd intent on being aggressive. Only one of
the policemen was injured when he was hit by a
glass bottle thrown at him. He was treated for his
injuries at the hospital and then released.

Q. What is the report mainly about?

(a) A clash between students and police over
school costs

(b) The higher price of college attendance in
recent years

(c) The number of wounded during a campus
incident

(d) The wild behavior of the student demonstrators
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In 2008, Aron Ralston was hiking in Blue John
Canyon in Utah of the United States when a
boulder came loose and crushed his forearm,
pinning it against a canyon wall. For five days he
was trapped and could only drink sips of water
to keep hydrated. After the five days, he forcibly
broke his ulna and radius and severed the arm just
under the elbow. He then had to rappel down a 65
foot sheer wall. Eventually a family found him and
alerted authorities. He says his story is not how he
lost his hand, but how he got his life back.

Q. Which is correct about Aron Ralston according
to the speaker?

(a) A large rock dislodged and fell on his arm.

(b) The breaking of his arm bones was accidental.

(c) He said this story is about losing a limb.

(d) Drinking lots of water helped sustain him.
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Storm chasing can be one of the most exciting
professions as well as one of the most dangerous.
In order to perform their jobs at a safe level,
special equipment is needed. One of the most
basic items any storm chaser needs is an
NOAA weather radio. Using this radio will give
users current sky conditions, dew conditions,
temperature, wind speed and direction. Also, if
there is a possibility for hazardous weather within
the next seven days, users will also be notified.

Q. Which is correct according to the talk?

(@) Current climate reports can be heard with any
ordinary radio.

(b) There is relatively little danger in pursuing
storm conditions.

(c) An NOAA weather radio is an inexpensive item
for weather chasers.

(d) Specialized items are needed to accomplish
what storm chasers do.
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| would like to speak to your article last week
about our poor school systems here. You seem to
be misinformed of the progress we have made as
a school. Our students’ national test scores have
steadily risen over the past 5 years and our “No
Student Left Behind” initiative has kept our worst
students from dropping out of school. So in the
future, if you are to write commentary again about
us, please get your facts straight.

Q. What is correct according to the talk?

(@) The teachers at the school are not doing their
job well.

(b) The students have gotten better very quickly.

(c) In 5 years, no student will be forgotten at the
school.

(d) The editor wrote something unflattering
about the school.
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Today in world news, archaeologists in Tribecastan
have unearthed what could be the fossil of a
new dinosaur. The fossils at initial glance seemed
to be what you would call a mega meat eater.
Similar in structure to a Tyrannosaurus Rex, this
new discovery is double in size to a full grown
T-Rex. This would make the new find the biggest
meat eater during the reign of the dinosaurs.
Tribecastan government officials have called
this one of the most important discoveries in its
country’s history.

Q. What can be inferred from the news report?

(@) The new discovery is the big brother of the T-Rex.

(b) A new biggest dinosaur may have been
discovered.

(c) Tribecastan doesn’t have much of a history.

(d) The new dinosaur apparently ate only a little.
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Have you ever dreamed of seeing your ideas
come to life? AIG Bank & NR Services will give
a great opportunity to help encourage more
top-quality work, which is the first in a series
of financial literacy workshops offered from
September 1 to November 5. Through these
courses, attendees will be provided with practical
guidance on a variety of topics to build a solid
foundation in saving, investing, sharing, and
spending. First of all, participants can attain the
necessary understanding of financial systems
during workshops. Also, they can be mentors to
work as teams within their family and community
to implement and practice this knowledge in
their daily financial lives as well as those of
others around them. These courses, presented
by skilled financial specialists, are offered at
a charge of $3, but free to current customers.
Unfortunately, registration for each course is on
a first-come, first-served basis and limited to the
first 50 registrants. If you have further questions
or need more information on the financial literacy
workshops, visit www.AlGBank.com.

Q87. What is the announcement mainly about?

(a) Additional ways to register for an upcoming
event

(b) Details of the first financial literacy workshop

(c) Information about how to become a wise
private investor

(d) Standard procedures to finance a lucrative
business

Q38. Who does not need to pay registration fee?
(@) Employees

(b) Financial specialists

(c) Existing customers

(d) Potential customers
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Traveling somewhere soon for the upcoming
Christmas? Or dreaming of spending the holidays
abroad? We spoke to renowned travel experts
who looked back on the places they went while
traveling during the holidays. Here are their
recommended destinations. As you know, Europe’s
Christmas Markets offer a unique experience along
Europe’s busiest waterways. Especially, the fabled
European Christmas Markets don’t get bigger or
brighter than those of Germany. If you are looking
for a destination where you could share a special
memory like Christmas, this is a wonderful choice.
From festive decorations to traditional cuisines,
German markets are fantastic places to look
around and see a different group of people like
candle makers, glassblowers and other artists. The
second most preferred country is Sweden, which
holds Sweden’s Christmas Market. When you visit
Gothenburg in Sweden, you can enjoy Swedish
Christmas food at traditional restaurants and visit
a medieval village.

Q39. What is the main purpose of the announcement?

(a) To provide information about famous travelers

(b) To present Christmas markets in European
countries



(c) To suggest how to spend upcoming holidays in
America
(d) To describe Christmas foods all over the world

Q40. Which Christmas market is the biggest in
Europe?

(a) Sweden

(b) Germany

(c) Gothenburg

(d) England

LYl SRIADIAS PBIN 2 OS2 oifiS & 717127
2 SQllN B M21S 5T ULIR? R o:iﬁc,ﬂ ﬁ%ﬂ%ﬂr
SOt 02 IBIM I50| U HASS EiS

LIF0] EQtEUCE 01220] OS2 £ FASE 'LIEf 0=|E1—.—E et

HI
2
Z_
o
§
rulru

Alm|, R F2|A0tA 02 REQ| 71 HRE 25 w2t =5t
dels MSELC Eo|, TExel R 32(A0tA Df éoﬂkl =2
o| oilo| 7k =11, -dehgtlict, F2|AnAKY st 7|YE L=
U= ’éI_/.\_% 1 QUCHH 0] FATt ST detol & 31?:!'—“3 =1
2AOA FARE MSEQl Q2|7IK| SUOI2 =5 UEE A

S, 92| B KBS} OIS ola7ISHE S AIRISS Bt
M FHZ SOIC 4 U= T AL T B 7 o“ﬂiEl
£ Ligks AR S2IA0IA OIS JHEIEHS Ama. | r

O AgJEl MENL2 0 ThA| S HESQ!

AlTH
- o
ADMA SMZ B2 4 AT BNDISE W2 4 U |:r

Q9. 2tLhe] FEl EX2 21Tf?

() B! oIV IS0f| ChEh HEE XZst7| st

(b) S| I2|AntADIZIS AT | IsHA

(©) EP 2= F2IAOIAE D=0l ELls W2 MAGE | 2isiM
() ™ Mire] Za|AntA SAS MESE | 2isiA

Sl Lo IRIA0A HU0| OfEP] B2 A B0IM 83
B OIS0l TS Raio] SRIANA DRIS ANt QUck
St AglHlo] S2ADKA OHl0| chstA THECE Asfstn 2

oo2 FHE2 (ol

Q40. 0| F2|ADIA OFHI0|
(a) 29yl
(b) =9l

) 1

() &l
(d)%'

FEoIM 7k 2717

223

o
X

E J2[A0tA ORI B2 AR—S0IH aid UXT Ss], TEH
7 F2|AntA o SolM S&o| oo 7k 311, drhistct
o2 2 (bolch,

e o
El

12

renowned R 2 AT look back on ~2 FSO0tECt
destination S&X| unique S55&t S5t festive decoration
F2|AOAZA  traditional cuisine T534! candlemaker %=
HIEAL glassblower R2| £= 28 medieval M2

( ACTUAL TEesT (5 ?

Part | = 22 P 100
1) 2 (d) 3@ (© 5 (@
6 (© 7 (© 8 (© © 10 ()

Part Il
11(c) 12 b) 13 (@ 14 () 15 ()
16() 17 @ 18 (@ 19 d 20 (@
Part Il
21(a) 22d 23k 24(d 25 ()
26(b) 27 d 28(d 29() 30 (0
Part IV

31() 32 33@ 34(@ 350
36(b)

PartV
37@) 38 (b 39 40 (©

Partl

1

M What did your son do before he went to bed?
w

(@) He woke up and ate breakfast.

(b) I'll tuck him in now.

(c) He was going to take a bath.

(d) He washed his face and brushed his teeth.
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W | would like to redecorate my bathroom.
M

(@) I love how you worked a miracle.

(b) Let’s move it downstairs.

(c) You must have spent a ton of money doing so.
(d) That sounds like a good idea.
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M You don’t look so well. You should go see a
physician.

fAIS M2 SiCH miracle 7%

w

(a) Physics was my favorite subject in school.
(b) You can find them in hospitals.

(c) The office is next to the library.

(d) I think you’re right. | might have the flu.
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W Kevin, where’s all the personnel for this project?
M

(a) Sorry, | didn’t mean to listen in.

(b) It’s upstairs next to the closet.

(c) They are waiting in the next room.

(d) The project has been finished for days.
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W You decided to resign from your position today?
M

(a) It’s time for me to try something new.
(b) I wanted to stay longer at the job.

(c) Nobody wants to stay here any longer.
(d) The new position was created yesterday.
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M We are expecting a heavy rainstorm to hit by
nightfall.
w

(a) | opened the drawer and took out a flashlight.
(b) As weak as the storm is, I’'m not really concerned.
(c) It will likely damage many parts of town.

(d) It soaked me from head to toe.
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1

M Look at this! The expiration date on this milk
has passed.

soak St X

w

(a) We could afford to buy a new one.

(b) Maybe it is a defective carton.

(c) Let’s just exchange it for a newer one.
(d) It's probably because it’s overpriced.
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W Does Scott have a lot of housework to do
today?
M

(@) Yeah. He has a very big test next week.

(b) I'm going to finish the rest of it tomorrow.
(c) He should have started it three days ago.
d) It was a lot of cleaning up to do.
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M That new restaurant’s popularity has spread by
word of mouth.

|—I:I

42X 211 ok
=
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2

W

(@) They are misinformed on the location of the
restaurant.

(b) I crack up every time someone tells me that.

(c) Pretty soon, it will attract critical acclaim.

(d) If you do that, you could become popular, too.
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W | heard you want to study philosophy in college?
M

(a) No, | received my acceptance letter a week ago.

(b) And religious study is a second option of mine.

(c) College is something that | haven’t thought
about.

(d) That’s not a subject you can really study.
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W When is the thesis due?

M Next week. Why?

W [ don’t think I'll be able to turn it in.
M

(a) The professor will approve it.

(b) Next week is not good for me.

(c) You might lose your scholarship.
(d) Don’t spoail all the fun for me.
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M May | help you?

W Yes, | would like to book a flight to Seoul.
M OK. Will you have any carry-on luggage?
w

(@) As long as | don’t miss my flight.

(b) Just a small laptop case.

(c) It’s in the baggage claim area.

(d) I found it in the lost and found office.
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W I’'m here to apply for the job opening.
M Do you have an appointment?

W No, | wasn’t told that | needed one.
M

(a) I could schedule you for an appointment.
(b) Sorry, there are no job openings available.
(c) Everybody here needs a job.

(d) The job opening is downstairs.
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M [ just noticed that the sink has sprung a leak.
W Really? That is so inconvenient right now.

M | know. What should we do?

w

(@) He misplaced my tools somewhere.
(b) We’ll have to renovate it.

(c) Just have to call the plumber.

(d) Let’s just assemble it again.
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M Good morning, this is your 7 AM wake-up call.
W Thanks. Is breakfast being served yet?

M Yes, ma’am. Would you like to place an order?
w

(@) No thanks. I’'m still full from last night.
(b) I’ll just go down to the banquet hall.
(c) | meant a breakfast served in the hotel.
(d) I enjoyed it a lot. It was top-notch.
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M Let’s go to the flea market tomorrow.

W OK. | just hope they have better merchandise
this time.

M It’s a “pay in cash” place. What do you expect?

w

(a) A wide range of selections to choose from.
(b) I expect a place a little less expensive.

(c) Obviously not to get a good deal.

(d) To be billed for a shipping charge.
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W | have to go out and start making a living.
M An easy way is to find temporary work.
W That’s not something | would like.

M

(a) It’s a good way to adjust to working.

(b) Just don’t settle for anything.

(c) The department store has all the equipment.
(d) The temp agency is looking for people.
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M Hey, I've just come across a virus on my
computer.

W Copy the file and send me an attachment.

M What are you going to do with it?

w

HCt temporary 2AIQ|  adjust ZS3ICtH

(a) Concentrate on finding a way to stop it.
(b) Generate another virus on your computer.
(c) Probably find some medication to help.

(d) Attach it to someone else as an experiment.
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M | can’t believe Seth cracked a joke during the
lecture!

W Relax. | thought it was a good way to lighten
the mood.

M Well, not with the seriousness of the topic.

w

(a) You were just taken by surprise, that’s all.
(b) He was being very malicious with his intent.
(c) It’s a good way to make people serious.

(d) In my opinion, it was really hilarious.
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M People have been obsessed with that new TV
show.

W It's because they let viewers participate in the
voting.

M What do you think would happen if they didn’t?

w

(a) Viewership would drop dramatically.

(b) I try to vote as much as | can.

(c) Refusing to join in won’t help matters.

(d) It’s because people watching it really need help.
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Listen to a conversation between a representative and a
customer.

W Hi, how may | help you today?

M Yes, | would like to withdraw some funds out of
my account.

W How much would you like to take out?

One hundred dollars sounds good.

W OK, then. You’ll see this transaction on your
next month’s statement.

M | appreciate your helpful service.

=<

Q. What are the man and woman mainly discussing?
(a) Pulling out some cash from his balance

(b) Discussing the statement he will receive soon
(c) Consolidating all of his accounts

(d) Figuring out the tally of this transaction
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Listen to a conversation between a brother and a sister.

M Mom has been so moody lately.

W We just have to keep reassuring her, that’s all.
M But you know she’s so sensitive to advice.

W I'll be relieved when all of this is over.

M | hear you. | can’t take her sudden outbursts.
W All right, let’s try it again.

Q. What are the man and woman mainly discussing?
(a) Tantrums the elderly usually have

(b) Relief when the situation will pass

(c) Wishing to take someone’s place

(d) The mental health of their mother
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Listen to a conversation between two acquaintances.

M We’re going to commemorate the opening of
the new school today.

W What do you have planned?

M A speech will be given and then a plaque hung
on the wall.

W That sounds like a great idea. When does the
event start?

M This evening at 7 in front of the school.

W I'll be a little late, but I'll stop by.

Q. What is the man mainly doing in the conversation?
(@) Conforming to societal norms

(b) Detailing the schedule for tonight

(c) Practicing his speech for later

(d) Designing a plague to hang at the school
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Listen to a conversation between a doctor and a mother.

W Doctor. My son here has come down with
something.

M Has he lost a lot of bodily fluids?

W No, but he seems to be exhausted all the time.

M OK, I'll run some tests on him then.

W What if something is wrong with the results?

M Just come this way and we can start the tests.

Q.

Which is correct according to the conversation?
(a) Results from the test come back negative.
(b) The son has become addicted to something.
(c) Bodily fluids are nothing to worry about.
(d) A patient has been feeling really lethargic.
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Listen to a conversation between two acquaintances.

I’'m looking to change careers.

Lucky for you, my company is hiring right now.
Is that right? How are the benefits?

One of the best in the nation. The incentives
are good as well.

Can | stop by later today and possibly interview?
W Yeah, just tell the receptionist that you’re here
to see me.

=2s=s£2

<

Q. Which is correct according to the conversation?
(@) She was too busy to meet with him earlier.

(b) Many enticements are offered at her job.

(c) Receptionists interview possible employees.
(d) Other places have better benefits.
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Listen to a conversation between two friends.

W I’'m having a hard time coping with my mother’s
passing.

M You just lost somebody important to you. It’s a
devastating thing.

W What do you recommend | should do?

M You should talk to a professional about this.

W John, thanks for the advice.

M Of course. I'll give you my therapist’s number.

Q. What does the woman ask about?
(@) Overcoming neglect by a loved one
(b) Advice on how to get by

(c) The life of her mother

(d) Investigating the meaning of life
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Listen to a conversation about research findings.

28

Listen to a conversation about a business plan.

M Your conclusion seems very flimsy. W | plan on launching a new clothing line next year.
W What are you talking about? Have you examined M Do you have any potential buyers for the line?
my findings? W Yeah, | talked with some the other week but |
M Yes, | have. | believe the problem is with the don’t know.
hypothesis. M I'll help you since | have some experience in
W | don’t believe so. the trade.
M Trust me. I've been doing this for a long time. W Oh great! | was meaning to place an ad for an
w

| don’t agree. Look at the numbers again.

experienced assistant.

M | could help you with your work and also
continue to establish myself in the field.

Q. Which is correct according to the conversation?
(@) The woman mistrusts the hypothesis.
(b) The man is presenting his findings. Q. Which is correct about the woman according
(c) The woman partially agrees with the man. to the conversation?
(d) The man questioned the woman'’s findings. (@) The woman is well renowned in fashion.

(b) The new line will be successful.

(c) People bought her clothes last week.
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Listen to a conversation about going to a graduate school.

M I’ve been thinking about going to graduate
school.

W That’s a big challenge. Do you think you’re up
for it?

M Sure. It can’t be that much harder than
undergrad, can it?

W Well, you can’t be absent, have to write a
thesis and have outstanding grades.

M Oh. Is there anything else | should know about?

W Yeah, plenty more. | could go on for days.

Q. What can be inferred from the conversation?

(a) A thesis is an important part of undergrad.

(b) The man has decided to go get his master’s
degree.

(c) A lot is expected of you at graduate school.

(d) The woman believes the man is prepared to go.
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Listen to a conversation about recycling bags.

Don’t we need more of those recycling bags?

Can’t we just throw out the trash in any old bag?

Well, the biodegradable bags are environmentally

friendly.

W How is that going to help at all?

M The bags will breakdown in the soil instead of
staying as plastic.

W Alright. | guess if that’s what the city wants, we

better get them.

===

Q. What can be inferred from the conversation?

(@) Recycling trash is only done by a few people.

(b) The store has a huge selection of bags available.

(c) Helping the environment is important to the
man.

(d) It’s going to take the man a long time to recycle.
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Hello, this is Alex Smart from HiTech Industries. I'm
calling to remind you of your interview tomorrow
morning at 8 A.M. Please remember to be on
time for this interview. Also, dress appropriately
because if you don’t dress professionally, you
won'’t be taken seriously. We only accept the best
and brightest at our company, so show us why we
should select you to be a part of the HiTech team.
We are looking forward to meeting you tomorrow.

Q. What is the phone call mainly about?

(@) The types of employees HiTech is seeking to
add

(b) The appropriate attire needed tomorrow

(c) What to do and expect at the interview

(d) Advice on employment interviews in general
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For all you history buffs, don’t forget to stop in
Normandy, France to see the Normandy American
Cemetery and Memorial. This place honors
American soldiers that died in Europe in World
War Il. The cemetery itself holds the remains of
9,387 American military dead. Another feature to
this place is the time capsule buried under a pink
granite slab. The time capsule contains sealed
news reports of the June 6, 1944 Normandy
landings. Although one cannot literally open the
capsule at the moment, it is a sober reminder to
us all of the historic importance of this particular
place and time.

Q. What is the talk mainly about?

(@) The American sacrifice in the European world war

(b) A place of momentous military and historical
interest

(c) The number of casualties on a famous battlefield

(d) The contents of a time capsule dedicated to
veterans
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We are addressing all of you today in protest
to the Prime Minister not resigning his office
yesterday. The corruption that had permeated
throughout his cabinet has caused tensions not
only within our own country but has spread to
other countries as well. The prime minister seeks
to gain absolute power over the government to
try to control the people of this great nation. I,
along with my other group members, will rally at
every political gathering until he does step down.
If he does not, our country will spiral into further
turmoil.

Q. Which is correct according to the talk?

(a) Other countries have been affected by the
corruption in the country.

(b) The speaker is in favor of the Prime Minister
not leaving office.

(c) Opposition will do nothing to quicken the ousting.

(d) The country is doing very well right now
globally.

EE

ONI AIISHK| et %HHI EH@ oIS H|7[BiLct ~Ako] LiZtol| 2t
GIst Hilfl= =ZLol| Z1E MEHE =2HFHS #0t OtL|2} CHE Li2tof|7t

XI RSLICEL A2 0] TIEH°J Liztel =2IS Sxist | fish ZEoll

LS Ao #=dg X2 gLch XM= a8el o2 &S0 &8l

7t ArME UH7ER| 2E FXRIA TS|ofA THES ZAILICE 2ref 7t

AMRISHK| A= R2|LEk= of 42 S2tof| P! ZdILICt

Q. =ste| LHgat Ux[SH= 222

(a) EIZ7IE2 0| 2712| HuHjo| FEkes BiQtt,

(b) Btxk= 40| AIIGHR| Q4= .

(c) dthSolM= Al HES A7 |= Ol OIRAR

(d) 27H= SiMl| ZHIMo2 i 5t ULt

tX| 245 Zo|ct.

ol

Safel Hroh ZHof| thgt SMeZ ¥ Liziofl T £z 2ol 71
S Ko CIE LIZIOi7HX| ROt oo (a)7t ook

in protest 2/2[5l01 prime minister &4 resign AIRISICH
corruption £1f permeate AHSCH cabinet LHZ} absolute
o=l rally HHZSICH spiral AZS0| E2 LIOPIEH  turmoil 2
2t in favor of ~0il ZHJ5t0{ quicken 24| 5iCt  oust LHEELCH

34

If you were able to go to old Giants Stadium in
New Jersey, you then probably heard of the urban
legend of Jimmy Hoffa. He was an American
labor union leader for many years. In July of
1975, he was to meet two men for a meeting
and subsequently disappeared. Legend has it
that when the stadium was being built, mafia
henchmen put Hoffa’s dead body in the concrete
mix and was then built on top of by the stadium.
Unfortunately, we’ll never know the truth because
after 34 years, Giants Stadium was demolished.

Q. Which is correct according to the talk?

(a) Giants Stadium was torn down in 1975
because of Hoffa.

(b) There is definitive proof Hoffa visited the
stadium.

(c) Hoffa is supposedly buried underneath the
stadium.

(d) Labor unions were opposed to Hoffa’s policies.
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Halley’s Comet is the most recognized of the
short-period comets. Halley’s Comet becomes
visible to the Earth every 75 or 76 years.
Composed of water, carbon dioxide, ammonia
and dust, it was first observed by astronomers
in 240 BC. Other comets are more visible but
usually appear every thousand years or so. The
last time the comet came to the Earth was in
1986, so expect a return engagement around the
year 2061. Maybe we’ll be able to get some more
information on this wonderful object the next time
it comes.

Q. What is correct about Halley’s Comet according
to the talk?

(a) It is a famous and relatively often seen comet.

(b) It was first noticed by astronomers in 240 AD.

(c) The comet approaches Earth every thousand
years.

(d) It is made of rock, ice and other such metals.
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The most important thing to help a race car driver
win is not just the car, but the pit crew team that
works with the driver. The pit crew and crew
chief are responsible for the maintenance and
performance of the race car. Some duties of the
crew are to change the tires, clean the windshield,
fill the car with gas and make any other minor
structural changes needed. The crew chief
coordinates and trains the pit crew to make sure
they work together as a team.

Q. What can be inferred from the talk?
(a) Pit crews do most of the hard work.
(b) A race car driver needs a good team.
(c) Menial jobs are done by the crew.

(d) The crew chief is the driver’s boss.
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The Public Transportation Association in the
U.S. welcomes the approval of the revision of
Article 29 of the Labor Law on worker protection
and severance pay by the government, but the
organization’s head says the move could lay
a burden on employers. Beginning next year,
the government will put the revision into force
throughout the United States and violators will
be punished. Tom Ashworth, deputy secretary-
general of PTA, said that his organization welcomes
the revision, but the authorities need to pay
more attention to loopholes that could lead to
unfavorable situations. He also said that while it’s
much better for worker protection, the amendment
may have more widespread social ramifications
than just the financial burden. Although the
request by the PTA came to the government,
Labor Minister Miller Diego said that the ministry
was willing to help workers whose employers
flee without paying decent wages. The Council of
Ministers also approved a draft law on the revision
of the minimum wage law.

Q87. What is correct according to the talk?

(a) The government approved reforming Article
29 of the Labor Law.

(b) The revision will take effect in America next
week.

(c) Tom Ashworth is a government official.

(d) The amendment doesn’t help protect
employees

Q38. Why is Tom Ashworth concerned about the

revision?

(@) It is harsh and unfair for violators to be punished
by the government.

(b) It could have a negative effect that allows
people to do something that would otherwise
be illegal.

(c) There are many more opponents of the revision
than expected.

(d) The government is not particularly interested in
making a partial amendment.
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Good morning, everyone. | would like to let you
know about an exciting event that is happening in
the auditorium next week. Next Tuesday morning,
Dr. Liam Carter, the director of psychology and
head of the anxiety disorder program, will be giving
a lecture to masters and doctoral students. As you
may know, his treatments have been prioritized
into anxiety disorders among psychologists
and other mental health professionals, including
psychiatrists. The results of his experiments are
being studied in advanced-level courses, so some
of you are probably familiar with his work. His
lecture will have a strong focus on the children
with anxiety disorders. Specifically, he will be
discussing how children with anxiety disorders
can relieve symptoms using the anxiety disorder
program, and how the therapies and treatments
can lead to lifestyle changes. The lecture is free to
all students in the course of advanced degrees. If
you want to attend the event, just call us at 555-
3140.

Q89. What is the main purpose of the talk?

(a) To suggest topics for a research assignment

(b) To inform students about the lineup of
professors

(c) To draw graduate students to a special
lecture

(d) To emphasize the importance of an anxiety
disorder program

Q40. Which is correct according to the talk?

(@) The event will be held on the day before next
Friday.

(b) Dr. Liam Carter will give a lecture to all students.

(c) Students who attend the advanced courses
have heard of Dr. Liam Carter.

(d) The lecture is free to all students except
graduate students.
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